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T(s) |14.12 13.71| 13.31| 12.90| 12.50 | 12.10| 11.70| 11.30| 11.90 | 10.48
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E
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C D
(A)y=0.5x?
(B)y=x+0.2x2
(C)y=x-0.2x2
(D)y=- x- 0.2x?

B ¥ou
) (B
2
c 1'3 x
IR
L1
-2
-
(A)y=x+0.2x2+0.1x3; (A)x y=2;
(B)y=x- 0.2x+0.1x3; (B)x2. y=2
(C)y=x+0.2x> 0.1x% (QV=QW%+%ﬂ

(D)y=- x+0.2x%+0.1x3

B

3
2

H_——ﬁ —

coa e A

2
D - o
(A)y=0.5ex; (A)y=2Inx;

(B)y=0.5e- x (B)y=x- Inx;
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(C)y = 0.5xex; Cy=—=- Inx;
X
@y=x ¢ Oy = (x-)- Inx
2
(@) f(x y A B)=0 Xy
A B Y=kX+b X
X 'y k b A B
(2) Xy XY X
Xy XY
(3) Y-X
1 y=A- eBx
x | 050 | 1.00 | 150 [ 200 | 250 | 3.00 | 350 | 4.00
y | 257 | 329 | 426 | 550 | 7.00 | 890 | 115 | 14.9
Iny=Bx+InA
Iny Y X X B InA k b
Iny-x
X 0.50 150 | 3.00 | 4.00
y 2.57 426 | 890 | 14.9
Iny | 0.944 145 | 219 | 2.70
&
3_
2_
1_
. . %
. 2 3 4
y=A- ex®
2 xA y:B



0.50 1100 1.50 | 200 | 250 | 3.00 | 3.50 4.00
7.9512.01(0.889|0.510(0.320| 0.223 | 0.164 | 0.126
A- Inx+Iny=InB,

Iny=-Alnx+InB
Iny Y Inx X -A InB k

Iny-1Inx
X 0.50 1.00 2.50 4.00
y 7.95 2.01 0.320 0.126
Inx -0.69 0.0 0.916 1.39
Iny 2.07 0.698 -1.14 -2.07
¥
\_1
\ %
" ; i
-
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xA- y=B
3 y=x+A+Bx3
0.0 0.50 | 1.00 | 1.50 | 2.00 | 2.50 | 3.00| 3.50
0.0 056 | 1.31 | 2.27 2 5.27 | 7.62|10.14
o1+ ax+Bx2
X
Y 1= Ax+Bx?
X
Y loasex
X X
(2 -3 Y x X B A k b
X
1
(- )= x
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X 050 | 150 | 250 3.50
y 056 | 227 | 527 10.14
2-% | 0240 | 0340 | 0.443 0.542

y=x+ax2+bx3

y=A+Bx+Cx?+Dx3 X
y+ y=A+B(x+ Xx)+C(x+ Xx)2+D(x+ x)3
=A+BXx+B-  X+Cx?+2Cx-  x+Cx-  x?+Dx3+3Dx?-  x+3Dx-  x2+D-

X3,
y=(B- x+C-  x24D- x3)+(2C- x+3D- x?)x+3D-  x- X2
X
y=A"+B’x+C’x2
A B C
zy:A--+B--X
3y:A---
X 3 3 3y
3
3
n
n

X 10.33[0.79[1.29]|1.80| 2.62| 2.86| 3.69| 3.89| 4.60 | 4.92 | 5.08
y| 34| 26|54]| 74]108|145|21.0]|25.9|33.8|41.3|50.0
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y:1_6560.70x
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y=2.0+1.0x+0.50%x2+0.20x3
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a=0.01
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-

1.000(0.990 0.959 [0.917

0.874|0.834 | 0.798

0.765| 0.735

12

13| 14 | 15

16 17 18

19

20

= |3

0.708/0.684 0.661 [0.641

0.623 | 0.606 | 0.590

0.575| 0.561

(4)

6

a,=14.8 a,=0.

673

I(A) | 0.10]| 0.15| 0.20| 0.25]0.30/0.35| 0.40 | 0.45| 0.50

0.55

U(v) | 1.39| 1.33| 1.25 1.

21|1.13]1.07] 1.03| 0.95| 0.89

0.85
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_02(5

X
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fo) 2
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=8 y2- T m12e274- 00
Sy=ay n 10.000
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Xi-ay
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| =33565-

105625
10.0000

12321

325°
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= = ———=-12173,
% s, 02062
[o] [o]
. X.
aozzfi—XL- a- axX ML, 15173 325 15056
n n 101 100
@) ra, @
S -
r=—2_—-= 02510 __ - ngoss,
JSo 5, V02062”03064
1
09985 " _ o
10- 2 o
Da, = |Eal ’ a1| =|0.02" (- 12173) = 003,
Da, = \ /1262 0.03=001
®3)
u 1 0.9985>0.765
a,=0.01 a,=0.03 ay=1.51%+ 0.01 a,=-1.22%+
0.03
ue -1- r, € =a,=1.51+ 0.01

r=-a,=1.22+ 0.03

CASIO SUPER-FX f -100D, f ~115D, f,-570AD, f, -
570CD, f,-991D

©

LR LLNEAR
(2) [SHIFT| [KAC X, XY,

A DATA

&) b
SHIFT Kk
SHIFT r




€y

&)
X [0.00| 1.00 {2.00] 3.00 | 4.00 | 5.00 | 6.00 7.00
y [2.01]269[4.62| 892 | 16.7 | 29.4 | 48.4 73.7

1 x=3.40 y
(2.00,4.62) (3.00 8.92) (4.00 16.7) (5.00 29.4)
x=3.40 y=11.5

00z 5§ %0 5§ D

2
y=f(x)
X y
€Y
y=ayta; x+a, x>+
(2) dh A &
a a &,
®3) X y
2
€Y

y=ay+ta, X+a,x?
(2) (2.00,4.62) (3.00,8.92) (4.00,16.7)

14.62=2a, +2a, +4a,

18.92=a, +3a, + %,

116.7=a, + 4a, +16a,
8.0:6.54,812—4.40, 32:1.74,
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y=6.54- 4 .40x+1.74x?
x=3.40
y=6.54-4.40x 3.40+1.74x 3.40°=11.7




h=h, 14244
D
d D N o
n d
n -d d-0
no

d(cm) 1.73x 10! | 1558x 101 [1.977x 10t| 2.362x 10t
nP- 9| 762x 101 | 7.99x 101 | 837x 101 | 876x 107

T (p-8)

n -d 0.652
d=0 n
2
2
2 2
X 2
Sy =& X - (an ) _ o1300- 0'7078 - 0007938,
o 2 2
3274
,=ay’- (any) =2687- - = 0007231
[¢] X o 5.
s, =8 (x v)- 22 _osgeps. 2910327 _ 447573
n 4,000
a = Sy _ 0007573 _
s, 0.007938 '
[¢} []
X
a = ay. a A X _3274 e,y 07070 0650 - )
n n 4000 4,000
ay d=0 n
3y 0007573

996,

= = = - 9
JS« 5, /0007938 0007231
0.990
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(1) v~Ds Ds® 0 0 vV, (9
(2) v~Dt Dt® 0 o) v, (1)
OA OB oC oD OE
s(m) 0.6000 0.7000 0.8000 0.9000 1.0000
t(s) 0.5637 0.6232 0.6789 0.7311 0.7806
v(m/ 9 1.064 1.123 1.179 1.231 1.281
(1) v~ Ds Ds® 0
Vo(s)=0.742 /
r(s)=0.9993;
2) v ~ Dt Dt® 0
Vo(1)=0.500 /
r(t)=0.9999
Vo(s)=0.742 /

Vo(t)=0.500 /

S= vOD+%a- (Dt)?,
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L=L[a,(t,-20 )-a;(t-20 )]

a; 4 a, b
20 20
a;=a,=a L=L- a- (t,-t;)
t,=t, L=0
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(b)

3
1
(€H)
0 | A
05 0
1/10 10
A 10
9 10
9/10
ab
b 7 8
7 L b
6
DL=6-6'3=6'i=0.6 76
10 10
(n-1) n n
X LX Dx :5
n n
K

L  Di=Kx-K- Y =x=kX DI=KDx,
n n



20 50 0.1mm 0.05mm  0.02mm
@)

|
1=K x) I
1 =1 + 1
X"=0.05mm
I =7.6mm
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X
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E
A
0.5mm D A
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C
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B
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C n, I = nx
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n,
n 50
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2 n 2 50 2( )
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+Fi

2 e
1AL 25 gt
{a) ibj i)
®)
D) 5mm
¢y
Fi=p gHS; H S,
Fo=p g(H+h)S,
S
G=G +G

2 F=F,- F{- G=p g(H+h)S,-p gHS;-G

=p ghSy- p gH(S;- Sy)-6
H (p ghS,-G)/[p 9(5;-Sp))1 ZF O
H (p ghSp-G)/[p 9(5;-S)1 = F 0

8x 8x 8cm® $,=0.0064m* G =2.56N

=0.5x 103kg/m? 4x 4x 3cm® S,=0.0048m> G =0.432N
=0.9x% 103kg/m?

_ (10°" 98" 008" 00048- 2.99)
o 10°~ 9.8 00016

(d)

H m = 0.049m
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Gy
G=p gV
Gy
Gy=G1-p gV
G1-G=p gV
p =G p (G1-6Gy)
(500m1)
¢y G,
@
3 r=_G1
Gl - Gz
E = ‘ITr|DGl+|ﬂr|DGZ ﬂr| Dr
S CTcN BT (N B T
A G=A G,=A G
_ G, 4 G, _
r (Gl' GZ)Gl (Gl' Gz)G1
_ G, +G, . DG
(Gl - GZ)Gl
AG
r = G, r
Gl' Gz
G _r-r ., o
G, r r




€y
)

G, +G,

B _Gy(1+1-r r)
r (G1' GZ)Gl

2r-r
- - DG =
Gi(L-1+r 1)

@
6,=27.029 G,=17.06g
r= G| -2t . 0998 10°kg m®
G,- G, 27.02 - 17.06
=2.71x 10%kg m3
A G=0.1g
E :&. DG
' (Gl - GZ)Gl
:(27—4-1,7)' 01=17%
(27-17)" 27
Ap=p - E,=2.71x 10%x 1.7%g m3=0.05x 10%kg m°
p =(2.71 0.05)x 10%g m3
@)
G,=54.03g G,=34.07g
r=_G1 =403 o8- 10°kg m?®
G,- G, 54.03- 34.07
=2.70x 10%kg m3
AG 0.1g
— Gl + GZ
r (Gl - Gz)Gl
- _4*38 - h1-081%
(54- 34)" 54
Ap=p - E,=2.70x 103« 0.81%kg m>=0.03x 10%kg m?
p =(2.70% 0.03)x 103%kg m3
1
Eef
A2 %:I
(1) ()
1. iR
2. gk
Gy

@



€)) Gy a
(D) G4 b
5) Vi Vv, Gy
G3=G1+G-p V0
G4=61+G-p  (V1+V3)g
- G3-G4=p V19
Gy=p V49
- p =G+ p (G3-G4)
c | |DGl+| r |Dc33+|11r |DG4+ I |Dr
"G, r 1G] v 1G,]| ¥ r
A G=
AGi=AG=AG
E DG + DG + DG
" G, G,-G, G;-G,
G;- G, +2G, DG
G,(G;- G,)
AG
DG DG
G, G,-G,
(€H)
6,=7.659 G;=34.829 G,=26.22g
P =6y- p (G3-Gy)
_ 765" 0998 10° me
3482 - 2622
=0.89x 10%kg m°
A G=0.1g

Ep =(G3? 64+261)- A G [61(G3? G,)]
=(35? 26+15)x 0.1 [7.7(35? 26)]
=3.5%

Ap=p - E,=0.89x 103x 3.5%kg m3
=0.04x 10%kg m3

p =(0.89+ 0.04)x 103%kg m3

@
6,=17.86g G;=61.36g G,=41.20g
p=Gy- p (G3-Gy)

_1786° 0998 10° 4
6136- 4120




AG

=0.88x 10%kg m°
0.1g
Ep =(G3? 64+26))A G [61(G5? 6,)]

=(61? 41+36)x 0.1 [18(61? 41)]

=1.5%

Ap=p - E,=0.88x 103 1.5%kg m?

=0.02x 10%kg m3
p =(0.88+ 0.02)x 103%kg m3

@ Gy
) Gy
® Gy
() v Po p
G1=p o9V
G=p ogV? p gV
G3=p o9V? p gV
61? G=p gV
G,? Gg=p gV
p =(6,? Gg)- p (617 Gy)
_ (G;- G,) DG N DG N DG _ 2:
r ((31 - G2)(61 - (33) (31 - G2 G1 - G3 (31'
(61?7 Gy)
@

6,=27.10g G,=17.14g 04=18.64g
p =(G? G3)- p (G1-Gy)

_ (2710- 1864) " 0998 10° K

2710- 1714
=0.85x 10%kg m3
=2A G (6,2 Gy)

=2x 0.1 (272 19)=2.5%

Eo

Ap=p - E,=0.85x 103x 2.5%kg m?

=0.03x 10%kg m3
p =(0.85+ 0.03)x 10%kg m3
@)



G,=54.14g G,=34.20g G4=37.20g
(= (5414- 3720)" 0998" 10° K
5414 - 34.20
=0.85x 10%kg m°
E, =2x 0.1 (54? 37)=1.2%
Ap =p - E,=0.85x 10%x 1.2%kg m°
=0.01x 10%kg m*
p =(0.85+ 0.01)x 10%kg m°

r = G,- G, or
Gl' Gz
0 G, G,
6,2 63 G,? G, P
@
G W a
b
@)
b
h i
@ F b ¢
(4) ()
© a Y P
p gvVa=Wb
(Pgv?p gV a=ib
1?7 p p=b b
p b p (b? b’)
P
_|Tr|Db | Db | fir (B
oMbl r || |9 r
Ab=Ab p
E =2 pprt pp=_2*0 p
(b- b)b b-b' " (b-b)b
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( b) 1m

1.5m

620mm 300mm

20mm
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(5) 2 F,=0Acosa +0Bcosf +0Ccosy +0Dcosd 2 Fy:OAsinor +0Bsinf
+0Csiny +0Dsind IR ZF

(©)

2R ZF ?

0 A

AFy AFg AF. AF
A F=]A Fpcosa |+]A FgeosP |+]A Fecosy |+]A Fpcosd |
A Fy=|A Fysina [+]A FgsinB |+]A Fesiny [+]A Fpsind |
IFR?AF 0 ZFA+AF
?
ZR?AF, 0 ZF+AF

SF ZF
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(a) F,
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FB c E

(k)
€)) @) ABCODE
@ 5

(b)
(3) X F =Fp+Fy Y F =Fg+Fo+Fg SEYF
) A My=Fg- AB+F.- AC+Fg- AE? Fp- AD
B CDE Mg Mc Mp Mg
®) [ (b) Fl A B CDE
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Fy=Fp+Fg? G Y F=Fe? Fp
TFA TFB
A B
F | !
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L O LS
()
5) A B C D
E F H 1
(6) C 2
Mc=F,- EC+Fg- CF+F,- EH? G- CJ A B DE
DMy 2 Mg XMy > Mg
Q) A
Fe Fo
FA FB
A B Ny=Ng=G 2 G
B C Fe a
F.- BC
F.- BC+N,- AB=G: AB N, Sk
2 2 AB
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N, +N, =G NB:9+ < C
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Na Ng

@ G




¢))
Ny=Ng=6 2

®

(k)




47

(3mm)

@

¢))

Ah

®
4)

Ah b

®)

(©)

)

(e
®

=R =%K(G/K)2 =G?%/2K

Ah



Eg ziK(EiA h)2 mGA h
2 'K

_G? L Ka h?
2K 2
Eg>E, Ah Ah
H.-’\.
T ;[Ej’; ijﬁ]
\ . el BE
ISl
\ff-‘
-
YR L)] (c)
[€)) A C
@ A C @ (b

® ©



48

(b) @) (b)
© @)
@ M ©
12143
2
()
€D
509
a
@)
(©) b @)
) C
@)
€D) @)
@ (b)
©) ©
4) @

10 o<

(&) (k) (c) ()



49

90°



50

F L =61t N vr

30—40cm 6—8cm
Imm 20

D) 5.00cm

)
©)

) 0
0

an i P =

5) 0 s

61

€Y)
)



®

t
4)
0
1.977mm
s(cm)| 5.0 | 10.0| 15.0 | 20.0 | 25.0 | 30.0 | 35.0
ti(s) | 29 | 6.0 | 8.0 | 11.1| 14.8| 16.6 | 20.3
t(s) | 3.0 | 62| 7.8 |10.9]|14.4]| 16.2 | 20.7
t(s) | 3.0 | 6.1 | 7.9 |11.0|14.6|16.4| 205
s t s-t
P.(2.9 5.0) P,(22.5 39.5) k=(39.5-50.)/(22.5-2.9)=1.76
1.76¢cm/s
r =0.996
0.874 s t b=0.22 A b=0.89
s t
k=1.74
sl )
a0
30
0
10
310 15 20 Hs)
(€H)
@) 0
1.0s
0 3.0s
t
40cm 2cm
D) lcm



&)

g = =
(aj (k)
€))
®
®) —
J 2127 J 2020
€)) Gy
a
@) “ — " “ " “ —
“ " “1 “ 1/10-1/100"
5 =y
3
Wnsm 2253035-1045@/5550[']
% ;3 ] - (5] 4;%;
1, 2.7%887] 3. =HEIE 4. 3EIR SRR
6. fifesn  THEE  3aER o4mR
(4]
(€)) Gy Gy 10cm
cT G416 t, G G
10cm G, G,
t=t, “ "
@) Gy 10.0cm G, 30.0cm
() -
S t
(6) Gy G, 5.0cm
®) t
5.0cm G, 60cm
(M 6 G s

s-t

* 1/100”



s t
(1) “ ”
@
5—10
A)
4)
=—— 5
2
= Sn’
)]
()G, Gy
(6)G, G, 1 2
S S b
s s (©) s
e— § ——3
1 ™
12
= 3'—=
(c)
=5
2
1
= S.’
()
s(cm) | 20.0 | 25.0 | 30.0| 35.0 |40.0| 45.0 |50.0
t1(s) | 051 | 063 |071| 088 |099| 1.07 |1.22
t(s) | 050 | 060 |074| 082 |096| 1.05 | 1.26
t3(s) | 048 | 062 |076| 083 |1.02| 1.11 | 1.20
t(s) | 049 | 061 |073| 084 |1.01| 1.08 |1.26
ts(s) | 048 | 058 |074| 085 |1.00| 1.06 | 1.24
i(9) 049 | 061 |074| 084 |1.00| 1.07 | 1.24
S t s-t e

S7

(D)



P;(0.24 10.0) P,(1.30 53.0) k=(53.0-10.0)/(1.30-0.24)=40.6
40.6¢cm/s

sl et

umumuﬁﬁmmmzﬁ@
[

r =0.997
0.874 s t b=0.23 A b=1.25
s t
k=40.6
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1.5m

51



€y

@

®



At

\Y
D v
@
)

At
(A
(At s)

(4)

\%
®)
A
@

@

Ims

vy=d/t

V- At

0.1ms

As/At

52

At

Ds:voAt+%aAt2

AA

At
0
S,
A
(At s)
@)
At
At=0
d=1.00cm



)] V- At V-s

1
As:voAt+§aAt2 At
1 1
v=v,+—-aAt v At V-v,=—aAt
2 2
2 2 _ 1
v V- v, = Eas V s
v Cn's)
35+
tziiik— 0}
25k
2|:| 1 1 1 3
|:| 0 035 10 15 &
(k) (el
s(cm) 60.0 50.0 | 40.0 30.0 20.0 10.0
t1(s) 1.68 1.44 1.21 0.98 0.70 0.38
t(s) 1.65 1.47 1.24 0.97 0.72 0.36
t3(s) 1.66 1.48 1.23 0.97 0.72 0.37
t4(s) 1.69 1.45 1.22 0.98 0.71 0.38
t5(s) 1.67 1.44 1.24 0.96 0.70 0.37
i 1.67 1.46 1.23 0.97 0.71 0.37
viem/9 | 359 | 342 | 325 | 309 282 | 270

Vv
Y At V-t C
24.0cm/s A 24.0cm/s
23.9cm/s
1.00cm
42 ._0ms A
v=d/t= 100 cm/s=238cm/s v- t
0.0420
(€D 0 (2° -3°)
0 Gy 55.0cm Gy 25.0cm



&)

Gy Gy
At S At s
3)G, G, G S 5cm )
At s 5—7
(4) V=s/At At
G, v V- At
At=0 G, v
®) Gy
0.00cm G,
55.0cm t S= %at2 a=2s/t? v=a
v=(2s/t?)x t =2s/t v v
(€H)
5—10
2 @O @ B 6 G
(B) 6 [ 50 (61
€) V- At V-s [
— (3]
s(cm) -300 | -25.0 | -200 | -150 | -10.0
t1(s) -068 | -054 | -040 | -030 | -019
to(s) -066 | -053 | -041 | -031 | -019
t3(s) -067 | -054 | -042 | -029 | -020
ta(s) -0.66 | -0053| -042 | -0.30 | -020
t5(s) -067 | -054 | -041 | -030 | -0.20
t(s) -0.668 | 0.536 | -0.412 | -0.300 | -0.196
vicm/s | 449 | 466 | 485 | 50.0 51.0




v At G, v- At

b 539cm/s G,
539cm/s 0 G, 2.06s
G, v=2s/t= 2x 55'O(cm/s) =534cm/s
2.06
VA t
nﬁm‘,rs:]
0.5
P .
S0605-040302-01  As)
@O @
b
P
- L I I R @P
. = 1234356
1 * L] L] * *
£||— 333
(a) (k)
@) 1 6 p S1-Sg p 7 12
S17S12
©) V,=s /(6T) Vv,=s,/(5T) Ve =S/ T
V=g /T Vy=5/(2T) Vi, =5, /(67) T
0.020
(4) At P

\Y} V- At



1 2 3 4 5 6
t(s) | -0..120 | -0.100 | -0.080 | -0.060 | -0.040 | -0.020
s(cm) | -7.82 | -6.73 -5.62 -4.34 -3.02 -1.55
J(cm/9 65 67 70 72 76 78
7 8 9 10 11 12
t(s) | 0.020 | 0.040 | 0.060 | 0.080 | 0.100 | 0.120
s(cm) | 1.66 3.42 5.22 7.21 9.23 11.41
J(cm/9 83 86 87 90 72 95
v
v At V- At o
80cm/s p
80cm/s
801cm/s
M cmd's)
100t
QD;,’/
20
ﬂ/ﬁﬁ;l;-
7% 4 0 4 % 12 ﬂ:u:m'zg:]
(c)
180cm 15cm 2
(€H) 3% a
2.0Hz
@)
b
ﬁ 4 §§§321
() (b)
® 16 7 s S 5
vV, V, Vs
(4) At 7
v V- At At=0



®

7
2 c
(6)
8 9 10 8 9 10 7 Sg Sy Sip
=
@) At 7
S s-At
7 V7
V7
v At 7 V- At
d 11x 10°cm/s 7
11x 10°cm/s
111x 10°cm/s
= o s C1t)
lvl% K 150F 2
r100
Fog 100f
- 30
rf0 snk
1 1 1 6D—= D 1 | | -
A0 20 -10 0 Ays) 050 1.00 1.50/45)
h (e)
®) (©)
s(cm) 55 109 163
t(s) 0.50 1.00 1.50
s At s-At e p1(0.22 25)
p,(1.74 189)
= ot L Bl
lvlt'ljz K 150F 2
r100
Fon 100f
20
r ank
1 1 1 6|:I-- D 1 | | =
A0 20 -10 U Ays) 0.50 1.00 1.50/48)
h (e)
k=89-29 o —108em/s
174 - 022

v- At



100g mm my My My
my VA
my m Q K
As As
@ m 0 "
m A Z mp M
C A At
V=As/At m A B
At m, v=As /At
m A Vu
m
Oeemee
a
A
-y
gl
[ _f
3 Q AC \Y
v, Q Z Vv Vi,
(€H)

&)
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""""""""" A l(
1A 2 3 TS EE 3002
4404 5T

@Q @
(2)
b)
123456 7 & 5 1011 12 13 14
(h)
) 1 2 3 14
4) t 1
1 s-t c
®)
s(tn)
T 20 fanls
A2y s t
s=atbt+ct?
(6) a b c
N 1 2 3 4 5 6
s(mm) 4.0 9.0] 151 | 220 | 30.6 38.9
N 7 8 9 10 11 12
s(mm) | 49.0 | 60.2| 72.2 | 85.1 | 99.1 114.1




tiyy

)|
B2
B3
B4 6.3
85 59
Be &0
S g
Sz £
By
=10
81
812

4 .0=a+0.02b+0.0004c

9.0=a+0.04b+0.0016¢c

15.1=a+0.06b+0.0036¢C

22.0=a+0.08bh+0.0064c

30.1=a+0.10b+0.0100c

38.9=a+0.12b+0.0144c

49.0=a+0.14h+0.0196¢C

60.2=a+0.15b+0.0256¢C

72.2=a+0.18b+0.0324c

85.1=a+0.20b+0.0400c

99.1=a+0.22bh+0.0484c (1)

114.1=a+0.24b+0.0576c 12)

12

250cm/s?

_‘IL 501=4a+0.2b+0.0120c
178.2 = 4a+ 0.52b + 0.0696¢
3705 =4a+084b+0.1784c

a=0.033 b=174 c=1.25x 10° a

s=17.5t+125t2
17.5cm/s



54

) 58
H A Gy Gg
d Sy
2 Gp
G, G A t,
tg V,=At, vg=d/A
ty d
\_/A \_/B GA GB VA VB
3) AB s
a=(vi-vVvi)l2s
® Gy Gg
) H L
ag=g- H/L
1.00cm
2.00cm 140.0cm
scm) |  t(ms)| vi(cm/s) to(ms) | va(cm/s) | gicm/s?)
1 50.0 27.4 36.5 19.1 52.1 13.8
2 50.0 29.3 34.1 19.8 50.5 13.9
3 60.0 32.0 31.2 19.4 51.5 14.0
4 60.0 34.4 29.1 19.8 50.5 14.2
5 70.0 35.9 27.8 19.0 52.6 14.2
6 70.0 37.6 26.6 19.2 52.1 14.3




Sodtatatatata

5 =141cm/ s°
Aa:Aal+A a, +A aggA a,+tAa+A aGcm/sz
_03+02+01+01+01+0.2
= cm/ &
6
=02cm/ s
H 9.79x 2.00
a=141% 02cm/ s’ g, = =2 AW ¢
L 140.0
=14.0cm/ &
@ t s a=2s/t?
@) A BC t, A B C S,
S2
. Aiz_s tlﬂtztﬁld
1.
=—a? t
S, 5 1 S[:Eajz
1
SZ = Eat;
+ s, /s =t2/t2  t,/t,=.s, /s
(t,-t)/t,=4s, /s -1
t,-t,=t
t, =t(ys,/s - 1)
a=2 s(4s,/s - D It?
€Y) ] G,
b
)
G, t G, 0 s
a=2 s/t?
©) Gy
)

©



(a)
©) G, G
t G, G, 0
S a=2s(ys, /s - D*/t°
® G G
@
¢)) [ 50
(6)]
©)) S1 S
s=v t+=at’
t S=v +la vy +lia V-t
t 2
2
D) 0 Gy 10.0cm
G, 30.0cm a
2 G, G
At
S (s A
(€) Gy 5.0cm 2 Gy 60.0cm
7 (s AtY)
(4) At
V- At
a=2k

€y G G [ 50 (®]



@
©) 0.01s 6, G,

4

s(cm) | 20.0 | 25.0 | 30.0 | 35.0 40.0 45.0 50.0
t(s) | 077 | 092 | 104 | 118 1.30 1.44 1.54
(8) | 078 | 093 | 1.06 | 1.20 1.29 1.42 1.52
t3(s) | 0.79 | 091 | 1.06 | 1.19 1.32 1.41 1.54
t4(s) | 078 | 094 | 105 | 1.18 1.31 1.42 1.53
t5(S) | 0.78 | 092 | 1.04 | 1.19 1.31 1.42 1.53
9 | 0782|0924 | 1.05 | 119 1.31 1.42 1.53

viem/s) | 256 | 27.1 | 286 | 29.4 30.5 31.7 32.7

At Vv V- At b
p,(0813 260) p,(150 324)
324- 260
~ 150- 081
a=9.3x 2cm/s2=18.6cm/s?
9.27cm/s? 18.5cm/s?

cm/s? =9.3cm/ §°
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(k)

(T=0.02sx 5=0.1s) 0
5 S 5 10 S, 10 15 S3 Sg

a,=(S5-81)/4T?  a,=(Sg-S,)/4T? az=(S7-S3)/4T% a,=(Sg-s, /4T?
a=(ajtay,tagta,)/4
Aa =la,-d ANa,=|a,-d Aa,=
la,-d Aa,=la,-4d Aa=(Aa+Aa,+Aa,+Aaq,)/4

2
3 7 Sy 5 V1=$1/4Ty T,
8 12 S, 10
V,=S,/4T, 15 20 25 30 35 Va3 vy
Vs Ve V7
0 ViV, \ t,=5T; t,=10T,
1,=15T, t,=35T,
v t v-t
k
3
0 5 10 15 20 25 30 35 S,—S;
0 5 10 15 20 25 30 35
t,=5T, t,=10T, t,=35T (T, )
0 5 10 15 20 25 30 35
v,=s/t, v,=s,/t, v,=s1/t,
v t V-t
k a=2k
n‘."l:CI'Ifl.rS:I
?_
Ml
T
aF
Ml
2_
HHEHEHE
U0 I0.20.50 4030 60 7 1(s)
4
0 5 10 15 20 25 30 35
v-t c 0.1s

lcm/s
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3) D d K=D/d
D d

)

S t (t s) S
) s t s-t a
t=0 s=0

t=0 s=at?+bt

©) s=at?+bt

t s/t=a+b s/t v t V-t
b
53
5 E
0
@
(7 V-t K a=2k v-t
K 1.00m

d K=1/d
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@) T
ag=(s5-51)/(412)

2m

S; S, S3 S4 S

a=(a,+ay+az)/°

8) Da, =|a,- d Da, =[a, - g

Da, =|a,- d Da=(Da, +Da, +Da,)/3

K a

K=D/d

a;=(83-5))/(2T?)  a,=(84-5,)/(2T?)
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@

GZ
1/100" 1
€))
4 G, 10.00cm
(t,s)
5) S 5.00cm
(t,s) 6—8
(6) s-t b
t
s=mt"
2
by
(7) 113 ”

1gs=1gm+nlgt 1gs-1gt 1gs

1gt



1gs-1gt

€D + 0.01s
0.4s 2
5
)
gem) | 100 | 200 | 250 | 30.0 | 350 | 40.0 | 50.0 | 60.0
t1(s) 014 | 021 | 022 | 025 | 026 | 029 | 031 | 0.34
t2(s) 014 | 020 | 022 | 024 | 026 | 0.28 | 0.32 | 0.35
t3(s) 015 ( 019 | 023 | 025 | 0.27 | 030 | 033 | 035
t4(9) 013 | 020 | 021 | 025 | 028 | 028 | 032 | 0.34
t5(s) 015 | 021 | 022 | 024 | 0.27 | 0.29 | 0.32 | 0.36
t6(s) 014 | 019 | 023 | 024 | 026 | 0.29 | 031 | 0.36
t7(s) 015 | 021 | 023 | 026 | 0.27 | 0.28 | 0.32 | 0.35
t8(s) 014 | 020 | 023 | 025 | 027 | 028 | 032 | 0.34
t(9 0.143 | 0.201 | 0.224 | 0.248 | 0.268| 0.286 | 0.319 | 0.349
s-t c t
s=mt"
T slm)
0
0.5
0.4
0.3
0.2
0.1
001020304 ts)
1gt |-0.845|-0.697(-0.650|-0.606|-0.572| 0.544 |-0.496|-0.457
1gs | -1.00 [-0.699|-0.602|-0.522|-0.456| 0.398 |-0.301|-0.222
1gs-1gt d
p,(-0.821,-0.950) p,(-0.470,-0.250) ps(-
0.667,-0.650) P1 Py
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A
-DEQ-D;E-DI.?-DI.ﬁ-E! .5-||:|.4
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03
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07
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Py 1.0

{ed)

_ -0950+0.250 _

=—————— =199
- 0821+ 0470
P3
b=-0.650-1.99x (-0.667)=0.677
100-677=4_75 s t s=4.75t1-9°
_1
S Egt
0.4
+ 1ms + 0.1ms
A B
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1. ¥ ets 2.5 3.9

4.5 5. 3EEHIE
@) 21
) 0 12 3
° 246 12 S1 S
S12
€)) s t ot
b
g
by ot
®) t
(6)
@)
21 0.78m
0.86m
10
0.784m



n 1 2 3 4 5 6
Sn(Cm) 0.90 3.30 7.20 12.70 19.80 | 28.40
t(S) 0.040 0.080 0.120 0.160 | 0.200 | 0.240

n 7 8 9 10 11 12
Sn(cm) 38.60 50.30 63.60 78.40 94.80 |(112.70
t(S) 0.280 0.320 0.360 0.400 0.440 | 0.480
s-t c

A alom)

110F
100F

oot

0t

T0F

f0f

soF

4']_

0

20+

10-

0 01 02 03 04 s
el
E
s=at2+bt t=0 s=0
(t s) 12 b

0.90=0.0016a+0.040b,
3.30=0.0064a+0.080b,
7.20=0.0144a+0.120b,

12.70=0.
19.80=0.
28.40=0.
38.60=0.
50.30=0.
63.60=0.
78.40=0.
94.80=0.

0256a+0.160b,
0400a+0.200b,
0576a+0.240b,
0784a+0.280b,
1024a+0.320b,
1296a+0.360b,
1600a+0.400b,
1964a+0.440b,

112.70=0.2304a+0.480b

6

6

] 72.30 = 0.1460a + 0:840b,

+438.40= 08972a + 2.280b

a=483 b=2.05
s=483t%+2.05t

SZE' 980t>
2
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t/t
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G, G, S1 S
G, G
t

1
:Eg(tl- Dt)z
1
S =§g(t2- Dt)2
(tz' Dt)/(tl' Dt):\/Sz/Sl
(tz' tl)/(tl' Dt): S2/51' 1
t,-t, =t
t/(t,- Dt)=.s,/s -1

t,-Dt=t/(Js,/s -1

2s,(ys, /- 92 =gt’ S
25(ys, /s - 92
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a
2
€) Gy G,
G, G, S1 S
* v v
G, G, t 8 10
®) G, G, 5.0cm
7 (S1,S,,1)
©) 25( /2 - )’ t
9
@
S; S, lcm S 0.6¢m
)
(@) E.= t/t + 0.01s
Et Gl GZ
t 0.35s E, 2.9% t
t
$;=5.0cm

S
2 (/—2-1)2 2 b
s,

P, (0.02010.200) P, (0.0650,0.635)

_ 0635- 0200
00650- 0.0201

A2 JooTa 1% (m)

0.4
0.5
0.4
03
0z

m/s =97m/ s

010203040506 "ts2)
ik



S,(cm) 350 | 400 | 450 | 50.0 | 55.0 | 60.0 | 65.0

t,(9) 016 | 018 | 020 | 022 | 0.24| 025 | 0.26
t,(9) 016 | 018 | 020 | 022 | 0.23 | 026 | 0.25
t(9) 017 | 019 | 021 | 023 | 023 | 026 | 027
t,(9 017 | 019 | 020 | 021 | 023 | 024 | 027
(9 015 | 017 | 019 | 022 | 0.24| 025 | 0.26
9 017 | 019 | 021 | 021 | 023 | 025 | 0.27
AP 017 | 019 | 021 | 021 | 023 | 0.24 | 0.26
7 017 | 019 | 020 | 022 | 0.24 | 024 | 0.26
ts(9)

t(s) 0.165 | 0.185| 0.203 | 0.218 | 0.234| 0.249 | 0.263
2() 0.0272 0.0342| 0.0412 | 0.0475 [0.0548| 0.0620 | 0.0692

S, .2 0.271 | 0.334| 0.400 | 0.468 | 0.537| 0.607 | 0.679
2s,( s 1*(m)

€y
s;, s, ¢t
@) S
1—2
€))
Ims 0.1ms
0.3ms
Ims
€)) h
t,
d

v,=d/t;  v,=d/t,



a=(vi- vi)/2s

C))

(5) 8—10

(6) g=a- L/h 8—10 L

@

sm) | 4O [vi9] 6O [ ] amsd) [gmsd)|  oms)

0.500 | 0.0187 | 0535 [ 0.0142| 0.704 | 0210 | 9.80 | 0.5
0.0165 | 0.606 | 0.0132| 0.758 | 0.207 | 9.66 | 0.09

0.600 | 0.0141 | 0.709 |0.0115| 0.870 | 0211 | 9.85 | 0.10
0.0159 | 0.629 | 0.0125| 0.800 | 0.204 | 952 | 023

0.700 | 0.0173 | 0578 [ 0.0126| 0.794 | 0211 | 9.85 | 0.10
0.0155 | 0.645 | 0.0119| 0.840 | 0.207 | 9.66 | 0.09

0.800 | 0.0166 | 0.602 | 0.0119| 0.840 | 0.215 | 10.03 | 0.28
0.0136 | 0.725 | 0.0108| 0.926 | 0208 | 971 | 004

0.900 | 0.0178 | 0.562 |0.0120| 0.833 | 0210 | 9.80 | 0.5
0.0151 | 0.662 | 0.0111| 0.901 | 0.207 | 9.66 | 0.09

@O @

@

d =0.0100m, h = 0.0300m, L =140m
g=975m/s, Dg=011m/ <,
g=975+011m/*, E = 14%

@

@



1
L=
b
(@)
@) 1 Mo
©) 1 H
4) 1 m 2
) 2 1
t
(6) a=2H/t?
@ m (m,a)
@) a=mg/ 2M+mgy+m g=a(2M=my+m)/m
g
m/ (2M+my+m)
g
€Y
(2 m t
H=1.60m m,=0.0091kg M=0.100kg t
m(kg) t(s) ams) | gm's) |m/(M+my+m)
0.0020 59 0.092 9.7 0.0095
0.0030 4.8 0.14 9.8 0.014
0.0040 4.2 0.18 9.7 0.019
0.0050 3.7 0.23 10.0 0.0023
0.0060 34 0.28 9.9 0.028
0.0070 3.2 0.31 9.6 0.032
0.0080 3.0 0.36 9.6 0.037
0.0100 2.7 0.44 9.6 0.046

0=9.74m/s? 0=0.11m/s? 0=9.74+ 0.11m/s?
m/ (2M+mg+m) a

b P,(0.005,0.05) P,(0.041,0.40)



FEWIED!

0.4 B
03t
02t
0.1y
001 002 003 1 drHm )
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5
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) h om
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i 1

l zzg(tl‘ Dt)2
: 1

Th2 Eg(tz- Dt)*
fti- Dt=.2h, /g
| -

ftz - Dt=4/2h, /g

g
g=2(/h, - \/n,)? ] (tz - t2)?

g t t
h,=2.00m h,=1.00m n=10 t,=6.3s t,=4.5s
2( t+ ty)/(t-t,)=2x (0.2+0.2)/(6.3-4.5)=44%
h 40%
h t t
n h; h,
1.5m 1.5cm
@
10
h
) 10° 10 t

T=t/10



(6) h:%g(T/4)2 g=32h/T?

g =3200h /12
E, = E, + 2E,
Dh=1cm h=120m Dt=02s t=200s Eg:DTh+2TDt
1 2702
1,202 50 3%

120 20
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[ @1
220mm 160mm
10mm 150mm

10mm 120mm

@

a=g- h/L h a
a-h a h
h=0



@ [ 58 @ @]

2 h 6.00cm
t1
t, d
v,=d/t; v,=d/t,
S a=(vi-vi)/(29
®3) h
a
4 h 0.50cm 2 3
3.00cm
(5) a-h b b a-
b b h=0 a=0
d=1.00cm

s=75.0cm



t(m9) | t(ms) | vi(Mls) | v (M/s) | a(m/s?) | am/s?)
(cm)

1 6.00 279 | 11.3 | 0.358 | 0.885 | 0.437 | 0.437
24.1 11.0 0.415 0.909 0.436
25.3 111 0.395 0.901 0.437

2 5.50 259 | 116 | 0386 | 0.862 | 0.396 | 0.398
26.2 11.6 0.382 0.862 0.398
244 | 114 0.410 0.877 0.401

3 5.00 260 | 120 | 0385 | 0.833 | 0.364 | 0.364
25.7 11.9 0.389 0.840 0.370
26.2 12.1 0.382 0.826 0.358

4 450 31.1 | 13.0 | 0.322 | 0.769 | 0.326 | 0.330
29.1 12.8 0.344 0.781 0.328
27.2 125 0.368 0.800 0.337

5 4.00 294 | 136 | 0340 | 0.735 | 0.283 | 0.289
330 | 137 0.303 0.730 0.294
28.6 134 0.350 0.746 0.290

6 3.50 316 | 144 | 0317 | 0.694 | 0.255 | 0.253
345 14.7 0.290 0.680 0.253
355 14.8 0.282 0.676 0.252

7 3.00 35.8 15.7 0.279 0.637 0.218 | 0.217
347 15.6 0.288 0.641 0.219
37.2 15.9 0.269 0.629 0.215

a-h b=-0.00071m/s?

b=0.0031m/s? r=0.998 b b a-h

h=0 a=0
1) () 58
3) h h
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1 EHREE 2.0[CE 3-THEFETRES
(€)) 20.0g

4) a, b, 20g 40g b,

)
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4) F, F=1 2 a, a=F, F,
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60 61

=)

-

1.000]0.990(0.959|0.917 | 0.874 | 0.834 | 0.798 | 0.765 | 0.735

ni| 12 13 14 15 16 17 18 19 20
r [0.708(0.684 | 0.661|0.641 | 0.623 | 0.606 | 0.590| 0.575 | 0.561
D
@
F
€)) a
54 (F,a)
(4) @ ®
F a 6 7 (F,a)
(5) a F
€y

)
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X z fy
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Xy f 1/z
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f!
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f"
f f

1 — 2
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f x y/z
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®) F
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a F 57
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a 1/m 57
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m+m' - =mg m

a
_mg-n(M+my- mg (1+mg
as M +mj M +m,
a m
(€H) (b)
A E | [
(bl
(2 A B
€))
A
B
t
(€Y a=2s/t? a
®)
(m a) 7-9 (m a)
(6)
a a m

b= b/g
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Ds 2Dt
=—+

(1) a=2s/t?, E. —  Ds Dt
S t
A B
) t
A B s=0.700m
1 2 3 4 5 6 7 8

1109 2.9 26 25 22 2.1 20 1.9 18
t2(9) 3.0 26 2.4 23 2.0 21 18 18
t3(9) 30 2.7 2.4 24 2.2 20 1.9 1.9
t4(9) 2.8 2.8 2.6 24 2.1 20 1.9 17
t5(9) 31 2.7 2.4 22 2.2 19 20 18
t6(9) 31 2.8 2.3 23 2.0 20 2.0 18
t7(9) 31 26 25 2.2 2.0 21 18 19
tg(s) 30 2.7 2.5 23 2.1 20 18 18
i() |300 |269 2.45 2.29 2.09 2,01 1.89 1.81
ams?) | 0156 [ 0193 |0233 |0267 |0321 |0347 |0392 | 0427
mkg) | 0062 | 0063 | 0064 | 0065 | 0066 |0067 |0068 | 0069

( o
_Y2 Yy _ 0451-0200 _ oo
X,- X, 0.0695- 00632

b=1y,- kx; =(0300- 398" 00657)m/<
=-231m/s°

almf=%) Ri0. 695, 0.451)

k

0.4

0.3 (0. OBST, 0. 300

U. 2L 400 622, 0. 200

0.1 IR N N TN N R |
B2 B3 B4 BT BE BT B2 B9 I'I'le:I

()
M= b/g=2.31/9.8=0.24
k=39.3 b= 2.28m/sz,u =0.23

@) M



T T
f T ' =f+T=Mgp +T p
M Ll
Ll f o-M b
k M =k/g
A
@- . L : ]
‘73 f
(a) " wm K
fl
mg  =(M+m)a ' =mg (M+m)a
a
@ (@)
¢ ©

B L
T

d

[c)

1 IREH, 2 4

385 4.4&B
@)

54 ' =mg (M+m)a

(m M ) M )

€)) @)) m f )
7-9 M f )

4 M T oM
5) oM k U =k/g



1 2 3 4 5 6 7
m(kg) | 0555 |055 |0455 |0.406 |0.355 |0.305 |[0.255
M(kg) | 0.200 |[0.250 |0.300 |0.350 |0400 |0.450 |0.500
a(m/s?) | 6.29 5.24 4.51 3.66 2.64 1.79 1.02
f'" (N)] 0685 |0988 | 1.05 1.21 1.49 1.64 1.73
M f f oM d)
p,(0.20,0.72) p,(0.45,1.60)
- 160- 0.72
K=Yz~ %1 _ = 352,

T X,- X, 045- 020

m=k/g=352/98=0.36

£(H)

1.3

1.0

(0. 45, 1. &0)

(0. 20, 0. 72)

0.5 1 1 1 1
Il oz2oandos Mke

[d)

k=3.49



my Mg
me>m, a m, m Mg
a
a_mR+Dm-(mL-Dm)
B Mg + M, ;
_ 29 4 Mg - M x
Mg + Mg mg +mMg
mg
e
ia)
y=kx+b m
m a) m a a
2 m, - m
k: g 1 b: R L >g
mR +mL mR +mL
m, =(b+g)/ k,m_=(g- b)/k
1.00g
¢H) 50- 70g
b
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z!fﬁf/:.-‘fa’r’f

my[ ]
(b
(2 10 1.00g

Mg

66

10
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(4) my Mg A Mg
m A B
5 t m t
5) m, Mg ®
(mt 7-9 (. m t)
(6) a=2h/t? 7-9 ( m a)
@) m a a m
k b
®) me=(b+g)/k  m=(g b)/k Mg M
@ C)) t 0.1
(2) t a h (1.2m 1.5m)
€)) m,
Mg (©)
(e
@
kt Kk b+ b

me=(b+g)/k m=(g b)/k
Dmg _D(b+g) Dk _ Db Dk

Mg b+g k b+g k'
Dm_ _D(g-b) Dk _ Db Dk

m, g-b k g-b Kk
) Mmg>m,

(Mg mg=(mg+m )a
My m a

(mg+ m m)g=(mz+m + m)a’

_Dbm(g- a9(g+a)

R™  2g9(at a)
_ Dm(g- ag(g- a)
L™ 2g(at a)
my  m @ a m a
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C)) A V=S,
s/(4T) vg=s, ¢/(4T) v¢=s; 11(4T) Vp=Sio 14/ (4T) Ve=Sy, 16/ (2T)
Ve=S17 1/ (2T) V=S5 2/ (2T) S Sp N m
n T
5) m F v
t A Vi=Vg  V, Vo=V
A V3=Vp  V, V,=Ve  V, Vs=VE  V, Vg=V; V, t,=3T
t,=6T t,=9T t,=12T t;=15T t,=18T t
v \Y t
m F % t
(6) €)
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Q)
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A Vi=Vg Vy o Vo=V Vo VaEVp V) VSV
Vs=Vg V, Vg=V; V, t,=3T t,=6T ;=97 t,=12T
t;=15T  t;=18T t Vv
v ot M F
t
(6) Vv t k k
€)) 68 (@
(2 \Y; t
57
3 M=m, F=m,g
My M
m;=0.290kg
m,=0.100kg 68 (c)

Va

F/M

S; 5=2.05cm s, g=3.02cm s, ;;=4.41cm S;5 1,=5.58cm S;, 15=3.38cm
S17 19=4.02cm s,, ,,=4.54cm

V1=V
Vo=Ve
V3=Vp
V,=Ve
V5=V
Ve=Ve

V. =S /(4T =—2025 o 0256m/
A =S /(A1) =250 00200 ™ 87O S
00320
VB _Sl 5/(4T)—mm/5—0.400m/s,
Ve =S, ll/(4T):mm/SZO.SSlm/S,
V, =S [ (4T -——igg@g——wn/s-OGQ&n/
0 =S 1/ 1) =250 00200™/ 570 S
00320
VE—S14 16/(4T)—mm/3—0.844m/s,
Ve =S /(4T)—Mm/s—101m/
F=917 19 =200 00200 %7 S
00320
V. = AT)= ——— _m/s=114
6 =Sxn 2 /(A1) = 5507 00000 ™/ 87 L4M/ s

V,=(0.400
V,=(0.551

0.256)m/s=0.144n/s,
0.256)m/s=0.259m/s,
V,=(0.698 0.256)m/s=0.442m/s,
V,=(0.844 0.256)m/s=0.588m/s,
V,=(1.01 0.256)m/s=0.751m/s,
V,=(1.14 0.256)m/s=0.88m/s

t,=37=0.060S

t,=97=0.180S

t,=15T=0.300S
t

t,=6T7=0.120S,
t,=127=0.240S,
t,=187=0.360S
v v t b



S (mf =)

k=(y, Y1)/ (X~ %)

=(0.850 0.200)/(0.350 0.085)=2.45
F/M=(0.10x 9.8)/(0.29+0.10)=2.5

k

EL0. 350, 0. 85005
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opa o fen - e
— T T T T T

F/M

D 63
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v, =d/t;
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G G

v,d/t,

7-9

0.019m/s
\Y; t

O &

r=0.998>0.917
b=0.019m/s
k=2.52

G2

& @



(6) M
m
@ t % v t
M+m mg v
@) Kk k  mg/(M+m)
M=0.223kg m=0.010kg
d=0.0100m
t1(ms) to(Ms) v4(m/s) Vo(m/s) v(m/s) t(s)
24.8 11.2 0.403 0.893 0.490 1.10
245 12.2 0.408 0.820 0.412 0.981
24.9 12.8 0.402 0.781 0.379 0.919
24.7 14.1 0.405 0.709 0.304 0.734
25.0 16.3 0.400 0.613 0.213 0.507
24.6 174 0.407 0.575 0.168 0.392
24.8 18.3 0.403 0.546 0.143 0.336
t % t b

k= (yz 'yl)/(xz 'Xl)
_0.455-0.200
~ 105-048
=0477m/ s*,
0010" 9.8

0.223+0.010

m/ s

mg/ (M +m) =

k

St (z)
0.5 r

n4r

Bi1.05, 0, 455)

nar

v.2 [+ B0 475, 0. 200)
01f

03 04 050607 08 0310 L1 Ay in/s)
i)

% t b= 0.006m/s
b>b v
k=0.432m/s? mg/ (M+m)

m/s* =0420m/ <,

r=0.996>0.874

b=0.013m/s
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€ (@ MN
0,C 0,0  0,0,=CD=d

B my my 0, 0O CD
0, 0 o, 0
(4)
0,C 0,D
G A
A B “ "
hA h' A h' B
(6) vV, =+20hA V', =200 ., vV =200
A B MVA=M V' ptmgV' g
) My Mg @ & O®

— ! !



h I A:h ! B:h I

(1) A B

ha(cm) [ va(m/s) | hg(cm) | vg(m/s) | h'  A(m/s) | v’ a(cm) [h' g(cm) | v' g(m/s)

20.00 | 1.98 0 0 1.02 0.447 17.11 1.83
MaVa+MgVg(kg - m/s) mpVv' aAtmgv’' B(kg: m/s)l
15.7x 1.98x 10°3=31.1x 103 (15.7% 0.447+12.2x 1.83)x 103=29.3x 1073

(m=15.79 mg=12.2g9 )
E= 29.3-31.1 /31.1=5.8%
2 B A

ha(cm) | va(m/s) | hg(cm) | vg(m/s) | h' A(cm)| v’ sc(m/s)| h'  g(ecm) v' g(m/s)

20.00 1.98 0 0 7.30 1.20 1.63 0.565
MpVa+MpVg(Kg - m/s) -mpv' gtmgv’ g(kg- mis)
7.98x 1.98x 103=158x 103 -7.98x 1.20+45.8x 0.565 x 103=16.3x 103

(m=7.989 mz=45.89 )



E= 16.3-15.8 /15.8=3.2%
) A B

ha(cm) | va(m/s) | hg(cm) | vg(m/s) | h' A(cm)| v’ A(m/s) [ h'  glecm) v' g(m/s)

20.00 1.98 0 0 5.82 1.07 5.82 1.07
MpVa+MpVg(Kg - m/s) (matmgv’ g(kg- mls)
15.7x 1.98x 103=31.1x 103 15.7x 122 x 1.07x 103=29.9x 103

(m=15.79 mg=12.29 )
E= 29.9-31.1 31.1=3.9%
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N B B R A v,=d/t,
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My vy MV = (Mg +My) V'
[v €]
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RB, RA, RQ; RA; RB,
RQ, f RQ RQ
RO RB" RA RQ RQ;
RQ RB" RA
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(1) BP BP OoQ R RB RB' =m—PB

PB=0.73PB B' B Mg/,

€)) 0 « RQ" =0Q
RQ; RQ, RQ' RQ; RQ,
RQ=RA+RB’
_ Mg
RQ=RA + - PB

A

mB
V=V, +— Vg
mA

MAV=M,V,+Mg Vg
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4 8—9 01 2 3
X y 1 2 3
X X1 X2 X3 y Y1 Y2 Y3
5) X t
0 X-t
X
(6) y t oyt
50 51
y = ax® + bx % t
y=at?+bt

Ly b v k

t

a

Q) Vye=Vptat

VeVt tVye
€y X
1 2 3 4 5 6 7
x(cm) 38 75 11.2 153 192 | 225 | 267
t(s) 002 | 004 | 006 0.08 010 | 012 | 014
x-t b
- 246- 50
K=Yz Vs cm/s=192cm/ s,

25.0¢
200

150

100
5.0

X,- X, _0130- 0028

xi.orm)

Fy(0.13,24.6)

R(0.0Z5.5.0)

)

020040 060020010012 014 tis)

ih)

x t r=0.9998 0.874

k=191cm/s

y



1 2 3 4 5 6 7
y(cm) 33 72 11.1 15.7 20.9 258 314
t(s) 0.02 0.04 0.06 0.08 0.10 0.12 0.14
yit(m/s) 1.65 1.80 1.85 1.96 2.09 2.15 2.24
y-t c y=ax2+bx y/t-t
d
V- V2 221- 167
yl/t-t k= = m/s =49m/s’,y

t,-t, 013- 002
a,=2k=2x 49m/s?=9.8m/s?

vicr)
30t

20t

10r

0020 040040020010012 0141(s)
(o)

22} viws)
21
20¢
1.5t
1.8
L7
Le & R002,167)

020 0.40 0,60 050 0.10 012 0.14t(s)

B {0.13,2.25)

{cd)
y/t t r=0.994 0.874
y/t t k=4.84m/s? a,=2k=9.7m/s? b=1.58m/s
1.58m/s

(€)) 4 Vy
Vg =Vy=1.92m/s
Vgy=Vyotat=(1.58+9.8x 4x 0.02)m/s=2.36m/s
v, = V2 +vZ, =/192% +236°m/s=304m/ s

PS-01 PST-01
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r
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1 1
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Dh, +Dh, _Ds
2(h, - h,) s
$=2.63m h;=90.0cm h,=15.0cm  h,=1cm
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v= > = 263 =6.7m/
~J2(h, - h,) /g /2(090- 015)/98 S
S h,+ h,

E, = + = 04% +1% = 14%,

' S 2(h1' hz)
v=v- E,=6.7x 1.4%m/s=0.1m/s
v=6.7+ 0.1m/s

s=1cm
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50°
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©) 10Hz
4)
®)
W
i Ty,
8] "
(a) ?
(6) 0 123
X y 2
X1 yD) X y) (X3 Y3)
@)
X t X-t
® y y-t
50 51 y=ax2+bx
(@ 0) y/t-t
y=ax?+bx
1 2 3 4 5 6 7 8 9
x(cm) 1.68 3.36 5.64 6.82 8.40 10.68 11.76 13.44 15.12
y(cm) | 1.46 2.44 3.08 3.30 3.26 2.68 1.64 0.34 -1.46
t(s) 0.100 0.200 0.300 0.400 0.500 0.600 0.700 0.800 0.900
€D X x-t b



p;(0.100 1.69) p,(0.834 14.00)

_y2-yl 1400- 169

"~ x2- x1 0834- 0100

cm/s=168m/s

X t r=0.998 0.798
14_K(EITI:]
13
il B0, 834, 14. 00)"
1of
'9-
sl
ot
& 3
2: 2
ar 1 . L L L .
L 01 020304050.60.70.
i_ IP2(|0.1IDU,I1.E:9) o _Dl] DSDE“DN'\?\HEJ
001 0Z0304050E070.8 09 +(5) ()
(1)
1 2 3 4 5 6 7 9
t(s) 0.100 0.200 0.300 0.400 0.500 0.600 0.700 0.800 | 0.900
y/lt(cm/s) 14.6 12.2 10.3 8.25 6.52 4.47 2.34 0.43 -1.62
x t k=16.7cm/s
@) y-t c y=ax?+hx (a 0) y/t-t
d
p;(0.10,14.3) p,(0.71,2.0)
20- 143
k=YL o =-202
X, - X, 071-010
y/t t r=-0.9997 y/t t
k=-20.0
¥t (emf =)
14k R 10, 14.3)
12+
1o
8.
et
4.
o B(0.71,2.0)
o[ 01 02030405 060708, 091 =)
? @
D D
Do
D=0.480mm D, =1.20cm
1 25 () k=16.8cm/s 16.8
x 25cm/s=4.2m/s (D k=-20.0

20.0x 25x 2cm/s2=10.0m/s?
16.3x% 25cm/s=4.08m/s

b=16.3cm/s
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@) hy hy hs
3) t h h—t
4 Vi,
45° J2v,

®) m hs

t;

1 2 2 2
mgh Em(ﬁvh) = mvy (mghg + mvy,)
/t5

62.0kg
n 1 2 3 4 5
h,(m) 3.40 6.80 10.20 13.60 17.00
th(s) 3.4 5.6 8.6 12.4 15.2
him)
ot p(14.0, 15. 60) e
14+
121
10F
sk
Al
i
HATII S, T
07 4 & § 0 1z 14 1IE|+_(5:|
t h h-t
P,(1.8 2.00) P,(14.0 15.6)
K — h2 - hl
t2 - tl
:Mm/szl.llm/s
14.0- 18

v=42v, =111x 141m/s
=157m/s



P:(mgh+%mv2)/t

_ (620x 9.79x 17.0+0500x 62.0x 1572)W

152
= 684W



92

3—4cm
€H)
A B
ggx
AR =
(.) b ﬁl/ E
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P
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Wf Wf
1 2 P s
Pt=—-mv, +—[ jvdx
P
€D A B H OA=5m OB=10m
0C=20m OH=70m a 0
0 A B H t,t, t
0 510 20 30 40 50 6O ?I.ZI(rrJ
OAE C I E F = H
[a)
(2) t X x-t
Vm
€)) x-t
v
4) X % V-X
5) V- X X “ ”
[ gvax v, t, J gvdx P
79kg
x(m) 5.0 10.0 | 20.0 | 30.0 | 40.0 | 50.0 | 60.0 | 70.0
t(s) 2.2 3.5 5.1 6.4 7.6 8.6 9.8 10.8
X-t b X 40m x-t
(b) 5
wn=§lnH829$ﬂ/S
34
1 2 3 4 x=5m 10m 20m 30m

x=70

V5=14/4.1m/s=3.4m/s
V,0=19/3.5m/s=5_4m/s
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V530=20/2.3m/s=8.7m/s

C
538m°/s
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a
€ S2
10.0cm
t d
v=d/t m
E, =%m\/2 =md? / 2t*
€)) X 15.0cm 20.0cm
©)) x E)
(4) B 50 51
y=Kx? Ek-x?
E, X 57
®) 1/n
n C
b AC
BC 1/n BC
n X
BC 9/10 8/10 7/10
©)) (K,K
()
(6) E-K
E, K
57
@) 63
EP Kx?  E,=aKx? (5)

X (6) E.K k a=k/x*
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A B
Xa Xp
Ko Xa=Kg Xg
X A B
1 2, 1 2
El :EKA(DXA +X) +§KB(AXB - X)
1 1 1
E2 = EKAAXIZA +EKBDXZB '|'§mV2
E,=E,
1 2 1 2
EKA(DXA +X) +§KB(DXB - X)
1 2 1 2 1 2
= EKADXA +EKBDXB +§mv ,
1 1 1
K ,Dx, X +§KAX - KBDXBX+EKBX2 = Emv2
1 1
Em\/z =5 (Ka* Kg)x?,
K, +Kg=K
E, = %
2
X
K
m=0.21kg
x(m) 0.100 | 0.150 | 0.200 | 0.250 0.300 0.350 | 0.40C
t(ms) 378 | 252 | 189 | 151 | 126 | 108 | 9.4
v(m/s) 0.265 0.397 0.529 0.662 0.794 0.926 1.06
E(10%) | 740 | 165 | 294 | 460 | 662 | 90.0 | 118
C 50 51

E-x



EQ10-3 1)

EC(10-% 1)
110
100
Q-
0
TOR
Bl
a0
q0F
30F
20k
10F

1 1
10 20 k1] q0 x (cmj 1 1 1 1 1 1 1 1 xt --(‘:mz:I
(c) 200 400 G000 S00 1000 1200 1400 1600

€4l

Xz(mz) 0.0100 | 0.0225 | 0.0400 | 0.0625 | 0.0900 | 0.123 0.160

E(103) | 7.40 165 | 294 | 460 | 662 | 90.0 118

K(N/m) | 1.40 | 156 | 1.75 | 2.00 | 2.33 | 2.80 | 3.50 | 4.67
tms) | 25.8 | 245 | 23.1 | 21.6 | 20.0 | 18.3 | 16.3 | 14.1
v(m/s) | 0.388 | 0.408 | 0.433 | 0.463 | 0.500 | 0.546 | 0.613 | 0.709
E103) | 15.8 | 17.5 | 19.4 | 225 | 26.3 | 31.3 | 39.5 | 52.8

x=0.150m,m=0.210kg E-K e

p,(0.90,10.0) p,(5.00,56.3)

EQ0ET
Pe(0.90,10.0

Ll g
q0F
g o
201
i) o

By(s.00, 56, 5)
1.0 203504080 K(H/m)
(=1
A
Yo~ Xy
_ (563- 100)x 10°°
B 500- 090
=113x 103

E,=Akx*(a
a=k/x*=11.3x 10°/0.150° = 0.501

E =Z=Kx?

p

N
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F F s V2, E
vioowW m/2
F S S Ey S F F
Ey W=F- s =
¢y
a
@
F

€)) 3

LB L D E . I

128456 T & 51011 1 1% 14 1% 18 17

- S T .

1% 1% 20 S g Py 24 2%

(c)
)
Vy=S1,3/2T,V5=S,,¢/2T
V:=S7,o/2T V=S5 504/ 2T
(5) A B C H
1S, Sg m
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\Y} W W- v
)
42 Lv
@ w-, 50 51
=a- V2 W- v2
€©)) W- v2 k
W = 1 mDv?
T2
57
€D 4 T
@
Emv2
2
0.0051
Dv, =s,,./(2T) =———m/s=0.128m/
A 113l (2T) 00400 S,
00112
Dv, =s,,./(2T) = ——m/s=0.280m/
B 416 ( ) 00400 S
0.0172
Dv.=s,,,/(2T) =———m/s=0430m/
c = 5o /(2T) 0.0400 S
0.0231
Dv, =s,,,,/(2T) = ———m/s=0578m/
o = S22/ (2T) 00400 S
0.0290
Dv. =s.,,./(2T) =———m/s=0.725m/
e = Saus/(2T) 0.0400 S
0.0350
Dv. =s.,../(2T) =———m/s=0875m/
F = Sieng/(2T) 0.0400 S
0.0410
Dv. =s,,,./(2T) =———m/s=103m/s,
0 = S:/(2T) 0.0400
_ _ 00470 _
Dv, =5,,,,,/(2T) = 10400 m/s=118m/s
$,=0.0030m S,=0.0150m S5=0.360m
s,=0.0660m S5=0.1050m S=0.1520m
$,=0.2070m Sg=0.269m.
m=0.221kg, F=0.56N

W,=F- s,=0.56x 0.0030J=1.7x 10-3J
W,=F- s,=0.56x 0.015J=8.4x 10-3J
Wy=F- s,;=0.56x 0.036J=20x 10-3J
W,=F- s,=0.56x 0.066J=37x 10-3J

k=m/2



W5:F 55:0 - 56X
W6:F 56:0 - 56X
W7:F 57:0 - 56X
W8:F 58:0 - 56X
bROLOETS
4o}
120k
i1oopF
g0
B0
4ol
20

0.105J=59x 10-3J
0.152J=85x 1073J
0.207J=116x 10-3J
0.269J=150x 10-3J

| | | | | | | | 1 1
O 01 0202 0405060.70.8091.01.11. 2 Awimfsd

(=)
1 2 3 4 5 6 7 8
v2(103m?/s?) | 164 | 78.4 | 185 | 334 | 526 | 766 | 1050 | 1381
W(10°3J) 1.68 | 84 | 20.2 | 370 | 58.8| 85.1 | 116 | 150
FROL073T 3
taor (1.2,132) P//a
120}F 4
1a0f
T
B0
4ol
o SN
O 0I0Z03 0405060 7080910 1.11.2
(£)
% W W,
W v  W=a- V2 W f
p, 0.18,20 p, 1.2,132
- 132- 20)x 10°°
K=Yz Ys _( ) k = 0110kg
X, = X, 12- 018
1
WZEHDVZ
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A B A H
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0 1 2 3
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TTETEATEE T8 T8 T T 127 13 14
(b
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v=d/(2T) T 0.200s
1 5,
—mv
2
)
-mgh
@) h Fr Fo
c A
E« Ep
) i;/ﬂ)/ﬁ/
\ﬁ}\w h=
(5
€))
@
Ep,=mgh E,+E,
2
Ek:%nwzzém%? Em+ 2E, + 2E,
(€] h 0.5mm
h 50.0mm
0.5/50.0x 100%=1%
@
d T
2—3%
1% Ex d/2T 2



0.02+0.01

©)
3
x 100%=1%

x 2% 100%=6%

300

8%

3/300

n

dn(cm)

v (m/s)
E(J)
h(cm)

Ex(J)

321 | 473
0.803| 1.18
0.322] 0.699

2.5 | 650
0.245] 0.637

6.31 | 7.87
158 | 1.97
124 | 1.94
12.0 | 19.0
1.18 | 1.86

9.40
2.35
1.76
27.6
2.70

11.0
2.75
3.78
37.8

3.70

12.5
3.13
4.88
49.5
4.85

14.0
3.50
6.13
62.7
6.14

15.7
3.93
7.70
77.5
7.60

EK Ep_h
6.89

k1:y2

- Y. _

d

(b)

EK_h

Eg.Epiml)

Ey

[FO0, 639

F, (34, 100]

Py

H0m)

Ep

{cd)

6.89- 1.00

X, -

Ep_h

_y3:

X, 700- 94
10.0 0.99

P3

- 687 +0.99

_Ya
k, =
X, - Xg

EK_h

Ep_h

700- 100

0 o0 50 40 50 &0 7
Papinn —0.99

[F0.0, —E.S?]{‘

=0.0972

=-0.0980

i

P,

70.0

-6.87

P, 70.0

0.9%
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S;
t d
1 5,
v=d/t E, ==nv
2
S
L
Ep=-mgh
@) B 7 9

L=1400mm H=60.0mm d=10.0mm

s(mm) | t(ms) | v(m/s) |h(mm) | B | Ep(D) |E(103))
200 | 245 | 0.408 | 857 |0.0833(-0.0840| -0.7
300 | 19.8 | 0505 | 12.9 | 0.108 | -0.126 | 2
400 | 175 | 0571 | 17.1 | 0163 | -0.168 | -5
500 | 15.1 | 0.662 | 21.4 | 0219 | -0210 | 9
600 | 146 | 0714 | 257 | 0255 | -0.252 | 3
700 | 132 | 0.778 | 300 | 0287 | -0294 | -7
800 | 12.3 | 0.813| 34.3 [ 0330 | -0336 | -6
900 | 11.4 | 0.877| 386 | 0384 | -0378 | 6
1000 | 10.8 | 0.926 | 42.9 | 0429 | -0420 | 9
E¢-S k=0.425 Ep-sS
kp=0.420
k:=0.008  Ke-kp < Kk K=Ky

h=sH/L
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Fo Fo F Fo Fo
12—14cm 3mm 0.2—0.4mm
500g 4.9N
€))
12.0cm
2 MN AB 0 MN
0.50cm
€©)) 0 MN 0.50cm
X=6.00cm a
0.50cm
X F
4) X F
F-x F-X F
—r\ 3
E_
M —-{< =—r—N
G Ir
1 N
B L T T
() ()
x(mm)| 0.0 | 5.0 [10.0{15.0{20.0{25.0{30.0|35.0{40.0| 45.0 |50.0| 55.0 |60.0
F(N)|0.00/0.50{0.80|1.10{1.30|1.40(1.50|1.60|1.80| 2.300(2.30| 2.70 {3.20
F(N)|0.00/0.40/0.70/0.90|1.00(1.10(1.20{1.30{1.50| 1.80 |2.10| 2.50 |3.20
X F F-x
b
€y 1/3
a [ ()
() 1
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mv=(m+M)V
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v

%(m+ M)V? = (m+M)d(1- cosq)
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0
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I
v
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1 = 2\@ - M +2_\/a
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an(q/ 2)
k = Zﬂ b= Zﬂ M
nmv v L
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snd
2
b v=2/dl /b
O O 6 G 6 @O O 6 &G 6
(6) 5
@ & & 6
7—9 7—9 M ©
1 1
(7 M — —M
snd sind
2 2
k b
(8) | v=2dl/b v
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T t
(€]
)
n
t T=t/n
n
E; 0.5%
0.2s
t=(0.2+0.2)s=0.4s t= t/E=0.4/0.5%=80s
0.8s n 80/0.8=100
J0201-2
(€]
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®) " T
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) Ty
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40cm
10cm

@ T
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€)) 7—9 7—9 K T
3) T K T-1/K
1/K T T-1/K
50 51 y2=kx
T-V1-K T
MK

(©) 1/n
Ko K=nK,

T=1.994s 6cm
3.8cm T=1.996s 10cm



PR RPRPRREPRRRE R

1.255
1.404
1.783
1.891
1.994
2.092
2174
2.270
2.369
2.458

T(s)
1.994
1.890
1.781
1.673
1.544
1.415
1.270
1.106
0.911

T s

.994
.994
.996
-996
.997
.992
.992
.997
.998

100.0
125.0
200.0
225.6
250.9
276.5
301.9
327.3
352.6
378.1

T m T?

K(N/m)

2.268
2.520
2.835
3.240
3.780
4.536
5.670
7.560
11.34

A m
.404
.366
.314
.265
.235
.198
177
.144
.109

O OO OO OoOOoO oo

=km

T Jm

VK (m/N)
0.4409
0.3968
0.3527
0.3086
0.2645
0.2204
0.1764
0.1323
0.0881

Jm

10.00
11.18
14.14
15.02
15.84
16.63
17.38
18.09
18.78
19.44

T- Ym

N1/ K

0.6640
0.6299
0.5939
0.5555
0.5143
0.4695
0.4200
0.3637
0.2969



T-1/K f T 1/K T?=k(1/K)

T-1/K g T J1/K
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€))
63
@) m
€))
a
4 S
®) 5cm
10cm 15cm 20cm 25cm 30cm
t
d v=d/t
(6) X F
X 5cm 10cm 15cm 20cm 25cm 30cm 35cm 7
X F
@) X F F- X
K
®) X
1
E, ==mv?
K2
1 2
EPZEKX E(-Xx Ep-X
©® x
Ex Ep E=E,+Ep
E
K=3.50N/m
d=1.00cm m=0.525kg Ep-x

b E=Ep+E¢ x=-30cm 2.5cm E



o x(em) | t(ms) |v=dit(mis) | _ = _;sz( J)
90.0 300 | — — 0.158 0.000
85.0 250 | 235 | 0431 0.109 0.049
80.0 -20.0 | 17.4 | 0578 0.070 0.088
75.0 -15.0 | 152 | 0.661 0.039 0.115
70.0 -10.0 | 139 | 0723 0.018 0.137
65.0 .50 | 134 | 0.750 0.004 0.148
60.0 0.0 132 | 0.761 0.000 0.152
55.0 5.0 134 | 0.750 0.004 0.148
50.0 100 | 139 | 0.723 0.018 0.137
45.0 150 | 152 | 0661 0.039 0.115
40.0 200 | 17.7 | 0568 0.070 0.085
35.0 250 | 238 | 0422 0.109 0.047
30.0 30.0 — — 0.158 0.000
1%
x(cm) | -30.0 | -27.5 | -25.0| -22.5| -20.0 | -17.5| -15.0 | -12.5
Ex(J) | 0.158 | 0.130 |0.109| 0.087| 0.070 | 0.053 | 0.039 | 0.027
E«(J) | 0.000 | 0.026 | 0.049| 0.067| 0.088 | 0.101 | 0.115 | 0.128
EptEc(J)] 0.158 | 0.156 | 0.158| 0.154| 0.158 | 0.154 | 0.154 | 0.155
x(cm) | -10.0| -75 | -5.0| -25| 0.0 | 25 | 5.0 7.5
Ex(J) | 0.018 | 0.009 | 0.004 | 0.001| 0.000 | 0.001 | 0.004 | 0.010
E«(9 | 0.137 | 0.144 | 0.148| 0.152| 0.152 | 0.151 | 0.148 | 0.143
EptEc(J)] 0.155 | 0.153 | 0.152| 0.153| 0.152 | 0.152 | 0.152 | 0.153
x(cm) | 10.0 | 12.5| 15.0] 17.5| 20.0| 225 | 25.0 | 27.5 | 30.0
E~(J) |0.018 |0.027 |0.039{0.052[0.070| 0.088 | 0.109 | 0.131 | 0.158
E«(J) |0.137 [0.128(0.115[0.101|0.085| 0.065 | 0.047 | 0.024 | 0.000
Ep+Ec(J)] 0.155 |0.155]0.154]0.153]0.155| 0.153 | 0.156 | 0.155 | 0.158
109
¢y
[ 63 1
@
106
3) “ 0.1ms
G, G, 12
G, (I G, G,



t, t i G, G, t

G, d
a=(v,-vy)/t=(d/ t,-d/ t,)/t
©))
6—7
®) G,
Gl GZ Gl GZ

) (5)

Q) X
a a-x a X

G, G G, G
110
m K
T=2pJ/m/K
m, T=2p/(m+m,)/K
2 2
72 =40 1, AP m,
K K
m T T2-m
k b K=41t 2/K

my=hb/k

D my

)

a

€)) M,
n t T=t/n

®) m, B & 7—9

m T m=m,+m,
) m T2 T2-m
@) k b

K=4tt 2/K mozb/k



m(103kg) 0.00 500 10.00 1500 20.00 25.00 30.00

T9 %5 47 w8 w8 4% s Bl
500 50.0 500 500 500 500 500

T2(s?) 0.656 0.729 0.803 0.876 0.941 1.016 1.086

m T2 T2-m b
p, 3.10 0.70 p, 27.35 1.05
K=Y Vi _ 105- 0.70 —144
X,- X, (27.35- 310)x 10°®
b=0.656

K=411 2/K-=2.74N/m
my=b/k=0.656/14 .4=0.0456 (k)

0.0426Kkg
3.00g 9.69
111
T
2
T? 4p21(1 ZLZ_ %4,1 2+ﬁ)
5 6m 8 5
| rm Mgy
Po P T2
0.1%
2
;Lzs 01% r< 0,09
%s 01% m,< 0.006m
m
%qzs 01% o< 513°
%s 01% r> 199/ cm’
@D D 0.1mm
©))
1 0.1mm

®)

0.5%



(4)

@
)

2s
x 4=400.0s

n>1000

t
“ O”
0.2s
0.5% t=
n>40
n>200
1000
K 100
100

=t/

1] 1”

n

t=(0.2+0.2)s=0.4s
t/E,=0.4/0.5%s=80s

1=100.0s
100T

K 1000
1000
+ 0.5s

? 10

00



0 0 0’ 00.0"

1 100 3" 17.6" 3" 18"

2 200 6' 35.6" 6' 35.5"

3 300 9" B3.1" 9" bB53.5"

4 400 13" 11.1" 13" 11"

5 500 16" 28.6" 16" 29"

6 600 19" 46.6" 19" 47"

7 700 23" 4.6" 23" 45"

8 800 26’ 22.1" 26' 225"

9 900 29" 40.1" 29" 40.5"

10 1000 32" 58.1" 32" 58.1"

32'581"
T=t/n= 5 s=19781s
“ "3 17.6" 1000

" 32" 56" 999 1000
€y T
@
[ 3]
€))

n n+1 n-1
n +1 n-1
T= T T=—=T'
n n

(1) T’ T “

@ -
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(2 15mm 1—2mm

€)) S, “ 10ms”

@ K

®) (4)

@

) 20ms

10 K
10 2ms

(€)) K

') J0201-2
T ‘T

J0201-2 “T

)

112
111

@D D 0.1mm

@ s



®3) T

(4) | @ @ 1 T
7—9 (Y

®) | T T-1

6 T-1 50 51

T2=kI T2-|

) 0.6—0.8cm

A B
A B

(k) (2]

2) 3cmx 2cmx 1cm
Cc

[(m) [0.302]0.428|0.561|0.669| 0.810 | 0.981 | 1.120 |1.288| 1.401

T(s) [110]| 131150164 | 181 | 199 | 212 | 228 | 2.37
T2(s?) | 1.21 172 |225[269| 3.28 | 3.96 | 449 | 520 562

T-1 d T2-1

T2 -| e T J
T2 | 0.9997



30k i
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u 0204080810121416 Lalim) 0204060210121418 L &1(m)
[d) (el
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J2210 J0202-3

@

(2)  J0202-3
13 OOO”

3) “ T 1/10s
[1] 8"
13 8” 8
C)) 5°
1 113 0”

T=t/8
Q)
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(©6) 6V
“ 000" “ 8"

=t /8

@ 12V ™ =t" /8
T>T ST
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3) D c
D
S | =s- —
2
®
t
T=t/n
®) C))
g=41t 21/T2 g
(€H)
Ey=Ec+2E;
2mm 1m 0.2s
50 n=50
E,;= 1/1=0.002/1=0.2%
E;= t/t=0.4/100=0.4%
Ey=E+2E1=1%
g=g- E4=9.8x 1%m/s?=0.1m/s?
9.8+ 0.1
€
Eg< 2%
E;=0.2% E;=0.9%
I=1- E,;=1x 0.2%m=0.002m
2mm
t< 0.2s
t= t/E;=0.4/0.9%s=44_4s,
2s 25
3 T, =2pyl/g q
T:TO(1+£sinzﬂ+gsin49+ )
4 2 64
E,= T-T, /T, :%sin23+isin4ﬂ+
T
0 5e° 10° 15° 20° 25° 30°
Er | 0.05% | 0.2% | 0.5% | 0.8% | 1.3% | 1.8%
10° 0.2%



50

_ 2 4p2
T=2pyl/g T = g .
2
I T T2 | k=3P
g
g=4m 2/k
€H) DL
[ @ 1
(2 S
?) 111
4) @ O ¢
7—9
T2
30
F,
25
2
1.5 2
40 50 60 70 B0i(em)
5) T2-1
g=4m 2/k
I(cm) 43.89 | 49.79 | 55.48 | 61.52 | 69.71 | 77.89
t(s)(100 )| 133.1 | 141.7| 149.4 | 157.3| 1676 | 177.1
T(s) 1331 | 1.417 | 1.494 | 1573 | 1676 | 177.1
T2(s?) 1.772 | 2.008 | 2.232 | 2.474 | 2.809 | 3.136
I T2 T2-1
p,(43.50 1.750) p,(80.00 3.220)
k=Y Vs _ 3220- 1750
X,- X, 8000- 4350

=0.04027(s2/cm)=4.027(s2/m)

g=41t 2/K
=4x 3.1422/4.027n/s2=9 . 806/



0A=1,
AB=I

2m
A
a I T
T=2p Lot
g
T3 | k g=4p’/k
o
o !
ik
aB
(2] (k]
2
D[ 114
Xp b
xB A
b
2
5° 110
T
2 ©3) 7—9 7—9
T2 T2-1
k g=4T1 2/k
T2(52) Fr

B

8.0
020304050607 0805 1.01m)

[

(1.7



A 1 T2
T2-1 c P1 0.306 9.00 P2 0.900 11.40

=Yz~ Y. _ 1140-900 _ .,
X,- X, 0900- 0306
g=4p®/k=4x 314°/404m/s =9.76m/ s’
I(m) [0.2500]0.3120]0.4650(0.5000( 0.7120 | 0.8270 | 0.9450

T(s) | 2969 | 3.010 | 3.111 | 3.191 | 3.267 | 3.337 3.407
T2(s?) | 8.815 | 9.060 | 9.678 | 10.18 | 10.67 | 11.14 11.61

a
{N-mgcosa=0
|
'I'frzlc' b
lac=r- Db
ac b 1. r
n 2 .
= sina
C |C+ zg
2
l.==mr?
¢ 5
a —§gsma
c 7
R
S =)
a.=-——ga=—- X
c=79 7R
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1 3mm

1.5cm
a
{a)
2
A C B b
B C
A Y u—
()
3 A
C
A A A C
B A B
10Q 2A
1 39
2 360mm 140mm 20mm
3 300 260 230 210mm 2.3—2.5mm
a
1 b
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S g2

Bl s
g8 717 & 5 4
1 200cm 1.2cm 2
1.6¢cm 28 7cm
3 2kg 4 2cm
100g 5 6 7 8 1
x 1mm?2 5 30cm 6
7
8 5
1
2 8 8
3
; W
1 T
1 6—8V
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3
4
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g
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@
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0.23mm 1500
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a
a
f
T f
f
3.
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13.

11.

14.

TS-2
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12.
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100Hz

200Q 1.5A

1—2cm
Smm

3—b5cm

0—2w

(@
50Hz

(b)
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(b)

©
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17¢cm
(¢ b
a
b
1
10cm
2 3 4 5
3
6 7
rh n | [ry-ri|=kl (k )

I
r,-r|=(2k+1)—
Ir, - = (2K D)



500—100ml

2.5 0.5VA
2 Im 0.1m

2 1000Hz
1000Hz
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6.8K 3V

4Q0 2
2cm “ " a AP BP
68cm AP M AM 34cm CP 15cm

20° A B
a
500Hz
S S, [ b 1

m CP
y C

b

1 2.
c
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500Hz 68cm
34cm

3 1000Hz ~ 4000Hz
B

MP

AP

AM



4 3000Hz

X, X; X3 X4

X = |(X4 - Xp) H(Xg - X1)|
| 2
1
2 5 / 40
50 60 80
1 3 5 i 1
1 i
1k Q ,

256Hz,320Hz,512Hz 1

1 @) “
" Loy Y

“ 100—1K"

2

256Hz
[ O 1]
3 320Hz,284Hz ,512Hz
5 6
8 b
4 5 6 8
1 3 5 i
1
2

400Hz



C D E F G A B Gi
1 2 3 4 5 6 7 I
dou rai mi fa sou la Si dou
(Hy)| 256 288 320 341% 384 426% 480 512
1
2
b
3
8Q 50
Q 1.5A
1
2 K
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60cm
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I1=(2n+1)- | /4 | 174
3/4 5/4

h f=n/4h n

3 800

128
440Hz 90cm

@



I | =41

(b)

N

n=Ff- |

8Q 0.25W

f
174 3/4
f
3 4
20cmx 20cm

| =41
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250mL

N 1

2000—3000Hz

(a)

2mm







2mm

4
1
2
1 0—4
2
3
1
1.82x 104 1.0x 103
20 2.1x 104 1.1x 103
50x 104 1.24x 103
6.7x 104 1.66x 103
1
2 4



B =1.1403 -1 B
=2x 104 -1 5
2mL
1 V 2mL
2 2mL M
tl
3
t2
4 V:285m|_ t1:19 t2:33 T:tz' t1:33' 19:14
K B
3
b= -2 _g4 g0k
V- DV 285cm®” 14K
J2261- 2
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30cm

Imm 70cm  30cm

1 2 Ifwf// 4
|/ 5

(a)

Aot A
Pl
1547 o s HFRER

4354t 5 HE
(b)

2 3cm 3 4 5



2
1
2
1.8cm  0.03—0.05cm
T4 10
I y
F T
1 £
of f; BT om
158 286%
1
2
3
1 0.03—
0.05mm
2
250mL 600mL
1 2—4mm 30cm

15cm



3.98

-1

=2.5% 10-°

B

B =2.3x 104 -1

-1

6.9% 10-°

4cm

25cm

10cm

15

10



20cm 2cm

1 12cm 1cm
1cm



1.2x 10°|1.7x 105|1.9x 10°5(2.38x 10°(2.86x 10>
U
A A
A
CoCl,- 2H,0 2
6

2cm

30cm



W/ m. k W m. k
0 0.0239 0 35.2
20 0.599 18 54.4
0 11.9 18 108.9

0.126 0419 20 201.1

0.838 0 385.5
0 2.30 18 421.5
+ 10
J2260
386W/ m- K 202W/ m- K 109w/

23W/ m- K

1 30cm 2mm



3—4cm

54W/m- K

3/4

386W/m- K



1
a
2
b 90
T Ty
At AQ
AQ/At T- T
AQ/At=E T-T, "
E n
T t
AQ=mcAT At

AQ/At=mcAT/At

DT _E
— == (T-T,)"
5 - (T To)

In(DT / Dt) = nIn(T - T,) +In(%)



T-T, AT/At In A
T/At In T-T,
E n
0 —100 1
1
100
2
10s T 10
2.0
3 To
4 Tn»l - Tn+l T= Tn
2Dt
DT _ Tn-l - Tn+1
Dt T oot
DT
In(T-T,) In(DT / Dt) InE- In(T - T,)
5 k b n=k
E=mceb E n
85.0 79.1 73.80 69.0
64.6 60.6 57.0 53.7 50.7 A t=10s
T=10.0
850- 738 _ 0560 T=791 791- 690 _
200

20.0

0.505 T=73.8
T 791 | 728 | 690 | 646 | A0 | 570 | 537
ATIAL | 0560 | 0.505| 0460 | 0420 | 0.380 | 0.345 | 0.315
T-T (°C | 69.1 63.% | 590 | 546 | sS06 | 470 | 437

(T T ) | 424 4.16 408 | 400 | 392 385 | 378
n&T | _pssn|-0.683 |-0777 | -0.368 | -0.968 | -1.064 | -1.155

At
DT
InE- In(T- T,)
P, 3.82 -1.10 P, 4.20 -0.635
3.98 -0.900 k b

K=Yz Y1 _- 0.635- (- 110) —122
X, - X, 420- 382
b=y- ax x;=-0.900-1.22x 3.98 =-5.76 n=1.22

E=mce-5-76=0.0032mc
A Q/7A t=0.0032mc(T- T,)1-22

Ps



k=1.24

b=-5.83 r=0.9996 r 0.874
In%—[ In T-T, DQ/Dt=E T-T, "
UI=E T-T, "
u 1
T-T, u 1
E n

£
=T
\K
E
fit
1
2 T, 5
R Tot5 u I
3 u 1 T, 10
To+10 u I
5 7
4 In T-T, In U- 1 In
Uu-1 -In T-T,
5 k b n=k E=eb
1



3cm

2.5¢cm



30cm

3—4mm

50

7mm

KMNo,



10cm



220V 100w

100w

150mL

15cm

1 1 3
2 2.5 9
3 4 13
4 5 18

100w



100mL 2 500w U

a
U
U
U
250mL 25W 500mL
A B
C
C A B



25W

50mL

220V 300W

100mL



2
200mL 100g 100g

8 9cm
2 1 0
4 5 1
6 12 3
8 17 5

709



At

Mg=2m,
tOA tOB

2.0Q 19.0



2 B
2 m Q m

3 Q m At

63

A B
mp=759 mg=150g
toa Al Atp top tg| Atp
1 3.0 19.4 21.5 1.9 17.3 18.3 1.0
2 3.0 21.5 23.5 2.0 18.3 19.4 1.1
3 3.0 23.5 25.5 1.9 19.4 20.4 1.0
450mL 200mL

1

2 L

3 my

m, 60—80
4 t, ¢
t
=€ m t,-t Q =

1

2

t t,

t L
t,=14.5
Q

Ey =EMy*E(ro- 1y



Ay B
il il Qug | st |Qop—Q,
g ||t gm2 2t e [ Tay
(8) | O [Cey [T [0
1 | 150 | 9 | 22| 50 | 62 | 22 | 19502000 2.5%
2 | 200 | 10 | 19| 40 |64.5] 19 | 1300|1820 1.1%
3 0300 | 9 | 2450100 | 72 |24.5 | 4650 | 4750 2.1%
Anm=lg A t=0.2
g -Dm_ 2Dt _ 1 04 .o
C m, t-t 150 22-9
E :%+ 2Dt :i+ 04 =3%
Q "m, t,-t 50 62-22
@ -Q
5 E, +E,
1
t2
2 Mg
my
tl
3
t
4 m,
5

(moco+mycy) (- t)=m,C, (L,- 1)



Co=(MgCotm;Cy) (- )/ [my (L,- )]
C, ¢ G

25 1
C=(mgCytmicy) (t- t)/[my(t,- )]
EC:E(m0C0+m1C1)+E(t- tl) +Em2+E(t2— t)

my m m, Co G

E. = Eq i ¥ E(tz-t)

_ 2Dt 2Dt
t-t, t,-t
t-1,=10  t,-t=70 2At=1
11

E.=—+-——=12%
10 70

20%
100 0.22cal/(g- )
0.18—0.26Cal/(g- )

AB BC
CD
AB CD
AB CD
t EF BEG CFG
AEFD T-t T E



At

AQ

AB

t T
EF BGE  CFG
E F Te Tg

(moco + m101)(t|: - tE) = mzcz(tz - tF)

C, = (MyCy +myCy ) (e - te) /[m,(t, - te)]

T,

U- I Dt =(myc, + mc)(T, - T,)

c=[UIDt/(T, - T,)- myC,]/ m,

UIDt = (myC, +mc)(T, - Ty) +DQ

AQ

CD

AB DC

AQ
AQ



CZ[(UI' Dt - DQ)/(Tz' Tl)' moco]/ml

U |
3
4
my
5
6
1 2
AB
AB A" B"
AQ
My Mg
Cg

(c - m +c,-

A Q

. AtA:UB. IB'
mA)' DTA+DQA:(C

25

T, T, At

AT,

(c - m +c,- m,) DT, =(c

(c

C =

- m +c,- m,)DT, /(DT;- cg- my)

Aty
- m +Cg- mB)DTB+DQB

m

25

AQ

AQ

A Q,=

+Cg- My)DT,



e T¢ AT, =Tg-T, AT, =Tg-T;

4 my mg m m ¢
1 T A T 4 3
A QA:A QB T’ A' T' B 3 m m
2
146
€y
) (0.01ml
7—8m2) (3)
(C;,H;5CO0H) COOH
Cy7Hs3
a
v
D=V/S S
(4550cm? ) ( )
(10ml  100ml 1 ) (Iml)3
2ml 1.5ml 1.0ml 100ml
40ml 2ml
1.5ml 1.0ml 49ml
1 200
D) Iml
Iml
W)
(2 1—2cm
1cm
b
®)
(3) D=V/S
( 1 200)1ml 228
v=_tx 1 -210x 10°°(cm?®)

200 228



€y
)
€)

€y
)
€)

€y
)

€y
)
€)

¢y
)

®)

S=136(cm2)
D=V/S=2.19% 10-5/136=1.61x 10-7(cm)

1.12x 10-7cm
V S
147
( im 0.5—1cm)
5cm
5cm
148
@)



30

@

)

@
)

@
@

(b)

©)

50mg

(b)
( a
( b)
149
1827
19
80g
30—40
4—5
1000mg 5%

1%

209



)

®)

(4)

@
)
®)
(4)
®)

@
)
®)

4)

0.12mm

500 800

45W

(2mw )

3cm

1cm 2cm

600



€Y

(b)
@

2cm 16x 10
)

150

0
@,

(@) 1.5cmx 6¢cm
)
®3)



¢y
(NO,)
)

3

@O @&

)
@
)

(b)

151

@

@



152

(500ml) ( 3cm)
D 309 60
(@
@
€))
C))
2

(b)

() |509|56.6|63.8|68.0|720|79.9(825|85.9|87.0

10 (11 | 12 | 13 | 14 | 15| 16 | 17 | 18

() |900]92.0/93.5|95.0|965|97.1(98.0(98.5|99.0

153



(

@

)

®)

4)

®)

(6)

@

)

10—20g

®)

2—5
Q)

)15¢ (500ml)
) ( 100 )2
70
( a)
70
(
83
70
- (b)

79.9

(70

350g



0.5

()| o 1 2 3 4 5 6
()| 707 | 721 | 740 | 759 | 77.8 | 788 | 795
()| 7 8 9 | 10 | 11 | 12 | 13
( )| 798 | 799 | 799 | 799 | 79.9 | 79.9 | 79.9
() 14 15 16 17 18 19 20
()| 799 | 801 | 805 | 8.9 | 828 | 833 | 842
() 21 22 23 | 24 | 25 26 27
()| 83 | 833 | 81.8 | 801 | 793 | 793 | 793
() 28 29 30 31 32 33 34
() 79.3 79.3 79.3 | 79.3 | 79.2 79.0 78.8
() | 336 37 38 39 40 41 42
() (786|783 | 7734 | 76.3 | 754 | 74.3 72.7 70.7
@
“ ” 400ml 200ml
o 30mm 10 —100
() (© ( )
(1) 1] ” 20g
0 80
€)) 5



4) 0.5
9 0.5
()
765 |77 | 776|779 | 783|785 787|789 79 79 79 | 791
79.1({79.4|79.7| 80 |80.1(80.3|80.4(80.6/80.7(80.8|80.9| 81 |81.6| 82
()
82981 (799 79 | 79 | 79 (78.4|773|768|755| 74 [719| 69
@
20—30mm
209
(2 2.5cm 8—10cm ( )
40g 80 )
()] O 05| 1 15 2 3 4 5 6 7 8
( )|350]|420|46.8|47.0|48.0|48.0|48.0|48.0|48.2|51.2|53.0
@ «( Na,S,05- 5H,0)
48
)

)



23 ( 25
) 48
259 2—3ml 49 (50ml) (10mD)
( 1 3 —103 )
€D lcm3 (
(@) 2—3ml
3 1
0
0
4) 3
( 1
)
®)
( 10)
() 0105 15 25 35| 4 |45 55| 6 |65
() 10/6][3]0 0 0 0| 0 |-05[-15] 3
()| 65 75 |85-235| 245
() 3 15 0 1
@
&)
(
)
)
(€))

®)



(4)

®)
)
154
A( ) B(
)
AC B) B(C A)
Q, Q, Q @
T TO (
10 —15 ) dQ/dt T To)
dQ/dt=K(T Ty)
[ do=f KTdt [ KT,dt
T t T T-t
Q
€y my
C
@ Ty (
) m m,=m
my C,
€))
( )
T,.(Ty Ty )
10 T,
) t T Tt ()
t, t, BFC S,
CDG S,
S,=S, S, S,
@ e S S,
5) m m,=m m'
(6) (M tmyC) (Ty Tp)=mycy TotmoA A
¢y

)



A =[(mcitmyc)) (T Tp)  myc T,1/m, A

< _|m| om || Dm |@oT |@| O,

= . 14 .
L A O
Am  Am AT, AT,
E — (mlcl + mZCZ) / m2 + (mlcl + m2C2 + m2C1) / m2 DT
I [(mlcl + m2C2)(T1 - Tz)] (' mzcsz)mz
m
2—Lc, +2c,+c,
m
= — 2 . DT
(_l - Cy + CZ)(Tl - Tz) - C1T2
m2
T2 E
( 0.1 )
AT E,
| Vv t t
Q=v- 1- t
t m
T
mA +mcT=V- I- t
A=(VI- t mcT)/m
A C
(50
2A)
@ m,
( ) T
@ Vv
|
€))
( )
4) (
T )
®) m,
m=m, m;

(6) A=(V- 1I- t mcT)/m



@

@
€)) ( )
155
o= (V- V2T
A T Vi V2
Ap AT
( )
« )
1 0.0075 (
)
( ) 1 336 615 890 1155
() 0 2.5 5 7.5 10
( 5kg)2
« )
(
)
0 0
156
D
€

€)



(4)

¢y
)
3
(4)

®)

@O @

©))

157



@O @&
)

) ¢ b

(  30—40cm 5mm)

¢y
)

( ) 1 25ml

@
) 2

30

60mm

@ ¢ )

(2 2mm



®)

@

)

3

@
)
®)

@
)

158



@
)
3

M
)

@

)
3

@

)
®)

(250ml)
100ml)

(

2—3cm

159

@ ()

atm



¢y

@
(
€))
©
¢y
@
€))
¢y
35
@
44cmHg 20
€))
mmg
() 78|60]40[35]20] 0] 20
— 1734|921 | 760 | 440 | 185 | 66
76013501134 | — | 44 | 12 | 3.3
40—60
500ml

(b)



@

)

®)

@
)
®)
(4)

@
)

®)

tl
(4)

®)

ms=m, M,

(6)

100
100

160

my
1/3
My=m, M,
t
2
t
My

Cimy(t, t)(L, t)=Lmg+cms(t t,)

L

- (c,m, +omg)(t, - t) - cmg(t- t))

ms



@

€)

@)
€)) 100
4
(€]
“ "m
@)
L(cal/g)
My=M; =M () [ ()
my(g) | my(g) m@| ™| myg
1 111.76 | 33538 | 22362 | 33927 | 389 | 274 | 373 [ 53x 10?2
2 111.76 | 339.90 | 228.14 | 34348 | 358 | 272 | 362 |53x 102
3 111.76 | 329.10 | 217.34 | 33120 | 210 | 275 | 330 |53x 10?2
t=100 L 5.3x 10%cal/g
50ml 25mm
3
(€))
1g
@) U 10—15V | 1—2A



m 1—2g
“)
At
)
(6)
W Q W=IUA t Q=Lm L=1U
A t/m

®: )
0 0, 6,
t, t c=4.2x 103(3/ ) L

L=c(® , 0 ,)t,/t,(3/kg)

161

€y
@

Ah
3) 1—2

C)
h, h, h, hi

h2 h3
)

OGO MO

(6)



®) ®)

@

)

3

@
)

€)) 1

)

(4)

0.24atm 20 0.58atm 35 latm

@
)

162



@

€

®

@
&)

€y

&)

€)

4)

A
1—2cm
B
A B
B B
B
A B
B
1 6cm
J2557
4cm
5 6
7
4
6
6
6
p=H h



€Y
@) 161

3) 20 440mmHg 80
2976mmHg

4)

J2557
80cm  100cm

@
€

€)

4)
®)
@
€

(20
440mmHg (400mm)

@



&)

® ( )

4)

2—3cm

@

(€H) ( )
( 50—50

@
t(
€))
(t.t)
€))

@
®



167

4cm

€Y

€)

©)

(10

11






23%

€Y

&)

193.8 35atm)
(©))

35atm
35atm

100m] ( )
) 1-2nl
)

440mmHg

®

€y 2ml

@
20ml

20

0.5ml



(1000m1)2

1) A B My C my D

@)
S ( ABCD K S 70-100m1/s

©) S ( )
V(v 20 ) v
@) K A B Mo C Moy m, my
my=Mm;, M=m-my
®) M/V ——

3-4

¢y u u
10cm

@ U

€))

®

®) P=pg h

€y
0 U






@

&)

@

€)
®

€))

&)

15%-90%

0-60



@ Y
t,( 163)
@) (ty)
p (ty)
B=(p/P)x 100%

40-50cm 1 1-2
( 6mm)
0.7cm
10-20 0(
100
¢y
@ 2
6

®

()



@
&)

®

@

€)

5-10ml)

@

@
®

@

latm

@)

114

113

90mmHg

15cal/g

183

b)



2000

@)
€)

100ml
(1) 100ml
)
€))

@)

(2-3mm)
(  80-150mm)
@ O
@ -

hl
@3 N
@ -
®)
(6)

Po
Q)
®)

@

1/p

1S)

( 30-50cm)

@ ®

pv



&)

€))
( )
Py=762mmHg
h 1P x PV
v=Ismm)® | (mm) P=Po*th | (mmHgl) | (mmHg): (mm)3
(mmHg)
1 127S 81 843 119x 103 | 1.07x 10°S
2 160S 80 682 147x 103 | 109x 10°S
3 139S 0 762 131x 103 | 1.06x 10°S
4 127S 78 840 119x 103 | 1.07x 10°S
5 1558 78 684 146x 103 | 1.06x 10°S
6 163S 81 843 119x 103 | 137x 10°S
“ " P
x \V “ "
Px V ‘
(1/P)-V P Vv ©)
(1/P)-V PV=C
( F )
) I1=1mm h=1mm
400Pa po=400
Pa=3mmHg p= po+t h=4mmHg
V=127S p=682mmHg pv=C
DC Dp DV 4
==+ =14%
C p V 682 127S
@)
(
)

Po=753mmHg, h=110mm



p \Y pVv
(mmHg) V=IS(mm3) (mmHg - mm3)
1 863 1243 1.070x 10°S
2 D 831 129S 1.072x 10°S
3 %) 848 126.5S 1.073x 10°S
4 ®) 808 133S 1.074x 10°S
5 643 167S 1.074x 10°S
6 ) 675 159S 1.0735x 10°S
7 %) 658 163S 1.072x 10°S
8 ©) 698 1543 1.075x 10°S
J2261 J2104
C )
@)
14mm
€))
S C ) Po
@) ( )
Vo
(€))
Vn
—_— G + G n
pn - pO + S
)
Vn
_ G- I:n
pn - pO + S
®) Pn
pnvn ann
€H)

)

J2106

80mm

0.4kg/cm?



®

3cm
170
J2257
BB,
K
Jq
M N
2 3
P=pox
€y
(2 BB
lcm

Imm
) lcm
(32257 )
@)
(d) AAy
BB,
AA
AA
t M N
Jq
(d)
U
h Po
p
lcm
20cm

4mm
( -50
BB,
)
©
MN
1
h
28cn
BB,



€))
)
Vl pl V2 p2 Vn pn pnvn
@
V12 p12 V,n p,n p,nv,n
pnvn;t p’ nV' n pV
(1) “ ”
@ u
€)) 220V 50Hz (
)
)
Po=76CcmHg
tC ) ) IS=V h P=po+ pV
1 13 20S 0 76 1520S
13 40S -38 38 1520S
3 13 10S 76 152 1520S
P1Vi=pVo= =
0-atm
1] 111
€y
15cm
latm

&)



@

€)

(==~ —=atm) 05-

(32257-1 )
@)

Imm

€Y

Vi pp Vo P Pn Vi

€Y

&)

(b)



@ U

) p1 t

® 0 (

p, t3 p3

() p-t
p-t 0
Po P=Po(1+rt)
1

P t r 573

€)) U A

) (

®

@

Po r [

0% )

Si0, 120

&)



(32257 )

J2257
170
@
20cm
@)
) 3-4 t p
(©)) p t
p/T
170
Po=76CcmHg
LS=V t T=273+t h | P=pg+t N pIT
1 20S 13 286K 0 76 0.266
20S 43 316K 8 84 0.266
3 20S 60 333K 13 89 0.267
PyL_Po _
LI P
(J2257-1 ) (500ml)
D) 170 2
( )
@) @
P4
(¢ 30 )
G
3) 45 60 D3
L,
® (b)
0 Po P=Po(1+rt)
(50-100m1) )
@0 @

t;

)

Py



) 25
€)) 25
4)
(5) n t
p/T
50ml
1 2 3 4
p(atm) 1.08 111 1.14 117
T(K) 317 326 336 349
p/T 341 3.40 3.39 3.35
)
p
300mmHg )
” )
(b)
36V
;=22 Po=755mmHg  p=py+p’

P’ (mmHg) p(mmHg) t( ) T(K) p/T
20 775.0 30.0 303.0 2.557
30 785.0 334 306.0 2.562
40 795.0 37.0 310.0 2.565
50 805.0 41.0 314.0 2.563
60 815.0 455 318.0 2.558

( 2-3mm
( )
@
)
)

p/T

20-



®

4 10
®)
(6) V-t 1
1 0
@ ( c) Z
( ) 3 ”
61mm
t( ) 22 33 45 50 59 67 71 76 87 92
L(mm) | 61.0 | 625 | 655 | 66.0 | 68.0 | 695 | 71.5 | 725 | 735 | 74.0
T(K) 295 | 306 [ 318 | 323 | 332 | 340 | 344 | 349 | 360 | 365
TIL 484|490 | 485|489 | 488 | 489 | 481 | 481 | 490 | 4.93
L-t (d) L t T/L
L T
@ @ ( ) (
)
) V-t \
(60
)

(b)



t( ) Vi to( ) V,
12.5 30 17.0 20
30.5 32 28.5 21
36.0 33 44.0 22
41.5 34 55.0 23
48.5 35 60.0 24
545 36 66.0 25
(J2257 )
171
€y
20cm t
@
( )
3-4 t VvV
(©)) vV t
V/T
Po=76CmHg
P=P, t T=273+t \ VIT
1 76 13 286K 20.0 0.070
2 76 43 316K 22.3 0.070
3 76 60 333K 23.7 0.071
Vi _ V,
T - T,
(oml) U (  40cm) (1000ml)
€y 5ml
@ 0
0 Vo
A t 6
ViV

Q)



t( ) vy | Vot | V-Vo

V-V,

Vot
0 5.2
15 | 55 | 780 | 03 | L.z
6
1
22 | 56 | 1444 | 04 | L. .52
29 1O
1
31 | 58 | 1612 | 06 | L5
27 10
1
48 | 62 | 2496 | 1.0 | L. o2
25 10
585 | 6.4 | 3042 | 12 | L. 52
25
1
62 | 65 | 3224 | 1.3 | L. 42
25 10
1. -2
26 O
(100ml)
(€D ( )
@) 5
( a
(©))
t, ( b
)
®)
(6) t,
@) t Vv
Vo
V. M-m,
V, M-m
To /Ty VIV, /T,
(®) b=—r_ Yo
_Vo(t'to)
t



t=97.5 t,=0 m,=80.5¢g m=108.3g M=191.0g
l _ M- m, _ 1910- 805 _ 1105 —134

V, M-m 1910- 1083 827
T _ 273+t _ 3705

T "27a+t, 23 P
y_T
VO _TO
b=—"Yo__ 0003452 ——
V(t-t,) 289
@
200ml  300ml v
)
-273
¢ d
-273.15 ( )
( ) V-t( p-t)
( )
( 25cm 2mm 3-4mm
13-14cm)
( 30cm 50cm)
@
() Y ( L)
@G @
t Ly
)] ( )
6-7 t L

®) y



-300 100 V-t
€ vt ¢ )

@) @ 3 4 G ©6
V-t x =273 ()

€y ( 172

@ ( ) p-t
( 171 )

170
(€H) S ( ) Gg
Po

€) vV,
P1=Po+(9o/S) t

(€))

2-3
Va L® P2=P1

® G

P3=Pg+(GotG)/S V3 4

®) p VvV t

(6) pV/T  (T=273+t)

170 W)
3) 2-3
)
®

x=pV/T X
Ex=Ep+Ey+Er

Ey 0.6% Ey E, E, E
2-4% E



’ Ep:m’/m
X pv/T
X, +X
Xl X2 Xl X2| L 2 2 EX
Go=80g py=10.13x 10%Pa
§=1.77x 107%m2
G+80. 98
=1013" 10* + © ——(Pa -
G | P 1000( ) | Vv | T=273+t | pvIT
0 1057 x 104 2.00 300 | 7.0x 102
0 10.57 x 104 2.15 320 7.1x 102
200 11.68x 10% 1.95 320 | 71x 102
0 1057 x 104 2.25 335 | 70x 102
200 11.68x 104 2.05 335 7.2x 102
pv/T
( )
«C )
(€D C )
Vi hy
Po P1=ppt My Y
Ty
@) U
V, h, %,
©) Vo hy 1y
) 2-3 v, h,
4
(5) pV/T

Po=762mmHg



p=po+ h| BV
Viom ) |t ) | TK) | hmmHg) | | T
1 46 17 290 30 732 116.11
2 45 9 282 32 730 116.48
3 54 74 347 14 748 116.40
4 53 67 340 16 746 116.28
5 51 53 326 20 742 116.08
6 48 31 304 26 736 116.21
pv/T
(32257 ) ( )
170
@ 20cm
) t p Vv
A3) p VvV t pV/T  ( L Vv
T=273+t) pv/T
plvl — p2V2 — —
Tl T2
po=76CmHg
= =Pot h =
t ) T=273+t h P=Po V=L oVIT
(K) (cm) (cmHg) (cm)
1 13 286 0 76.0 20.0 531
2 43 316 1.5 77.5 215 5.27
3 60 333 1.8 77.8 22.7 5.30
)
( )
( )
( ) (
)
( 60mm) ( 40mm)2



€Y)

&)

®

@
)
1.4mm
®

Q)

45-75W

200ml

(1) 50-60

&)

®

@

€)
®

20-25

(

2.5mm

0.02mm

)

) 10cm

170-180ml



4/5

177

3 4 5 6



}- } 200ml
3 4
20

1 10cm
8cm

30°

3cm



80



178

1]

S
S
a a
a a
a
500mg 1
n-” L 5cm L M
n
.
M
m
2f=mg f=a L
o =mg/2L a
t
.
N
.
a =7x 102N/m L=5cm=0.05m

F=2Lao =2x 0.05% 7x 10-2N=7x 10-3N



B =E,*E.= m/m+L/L m=0.02g
E,=0.02/0.7+1/50=5%
5%

0.5— 2mm
h
r
21y a
p
- ppah+ 90
2pga = pg PA§ +3z
g h
3
1 go_1 do
a=5rwgh+ 2= grdogh+ 2
daah a=£rdhg
4
5
6
1
2

15— 20mm

L=1mm

20cm 3

L 4— 5cm



m(1+ 0.00018t) m
d= = (cm)
13596pL 136pL
t Lcm
0.5mm
n
%
2Ly - o =mg a
2y a
t=24 2.0mm “ 7 1.80mm
n=50 V=1.90ml
a=mg/2pg=(rvg/n)/2pg
17190 10°%” 98/50
= - ————N/m
180" 314" 10
=66~ 10°°N/m
20
a  1073N/m a  1073N/m
10 21 63
30 513
24 22.6
28.8 0 24.5
72.75 22.0
40 60 18.4
-12 9.0 0 24.1




1073N/m 1073N/m
0 75.62 25 71.96
5 74.90 30 71.15
10 74.20 40 69.55
15 73.48 50 67.90
20 72.75 100 58.84
179
2mm



3— 4cm
2
3
1
2
180
4—5 a
b 7cm 0.25mm
3mm
1 a
4
2 b
a
4—5
2 2
2mm 602

Imm

1/4

2.5—



12x 16cm2
Imm

181

1cm

1/4—1/5

N



182

100ml

10ml

32



3oml
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